d¥Id 2Rl Adl yieal] ssa, aliefloidrR

2l col] Ul

WMBAd $HIS:R09/0333 A[As Heedlal ¢yaz (Aldld), ai-3 ol
dl.aw/a /013 dll A% Al%¥dIHi AHIdd CBRT ulaiioll Final Answer Key cum
Response Sheet o2 £211dd dls Guz ysdidi 241dd 8. GAedR] 41 dIs Guz sdls

s3lal Uldio] MU, GHEUR &IRI AIUUIHI AHIAA YUIG VHal SITold IoAR S| ¢S
2152, 21 uil2iiHi Section - A Hi S0 L ol Section - B Hi TUR L] YOI
2A19d &dl.

GAEUIR] &RI MI[A%Baid AloA2 S| A1A AMIHT A1Ad digll A Jall AcU §d
R (A) U e s & dgl 3(2He1) UHloll ¥UIIHI eIl &AM 8. Fofl [Aad] ofld
Yo B.

Question No. in this Question ID Remarks
Final Answer Key

Section - A

Que: 9 630680509155 Question is Cancelled

Que : 19 630680509165 Option 1 & 2 both are Correct
Section — B

Que : 123 630680509271 Answer has been changed

Que : 162 630680509310 Answer has been changed

Que : 191 630680509339 Question is Cancelled

GUsd YURRA 2409 € &JAA U] HI2 GAEYRIA MI-R21 YOG HISA
HAYYI L.

GURlsd (A2l vHaA1R0fl ¥33] &Rl A1l SIgoid 21042 5] oflA e11dd dls
BUR GBudod 8. GAedRla dl._RG/0a/R0’% dl JA¥Y Ac.00 sdls
dl.ou/ 0 /0% ol A% *3.UU sdIs Y| A ddl 18] ¥einggini 2419 8.

https://cdn3.digialm.com/EForms/configuredHtml/32791/86745/login.html

Gusa dls GuR (sds s241€ll Login Form 20i Yd?l ¥HI GAEUR Uldloll
Confirmation No., Password ofl Uilolldi Uldloll ¥ordiZlu(ddmmyyyy) 3yxo

Aol Ay 222 218y s3] Login Gizel UR [SAS $dIg] 282, CURGIIE §Iold o2 S|
DBIEER

22012 2ligflotdR &AHY Ued

diRlu: e /o0 /0¥ 2RI


https://cdn3.digialm.com/EForms/configuredHtml/32791/86745/login.html

Section A - Reasoning, Data Interpretation, Quantitative

Aptitude
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time: 0
Is Section Default?: null

Question Number : 1 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0

Five friends Harsh, Imran, Jason, Kamal, and Lalit, are standing in descending order of their heights. The tallest person
stands at the front and the shortest person stands at the last of the column. Harsh stands immediately behind Lalit, who
stands immediately behind Kamal. No one is standing behind Imran. Jason is not standing behind Harsh. Who is

standing at the top of the column?

Options :

1. % Harsh

2 % Kamal

3.« Jason

4. % Lalit

Question Number : 1 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
UL (eol) Y, (21t B, M e 6, cudlell GRuLeitl Betel sMui Getl 8, el Gl caifst w4 i

Hle] 5] sl elaretl B euid Gedl 8, o vl aldlef] dact uiesen Glef] 8, % suelel dad 19 Glel] B,
SRLeet] ulesn 5165 Gl etell. B Sl Ul Gl ot 21l Hel] w4 5141 Gl B2



Options :

1. % N

5 % SHd

3 v WY

4 % @ldd

Question Number : 2 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

M = N" means ‘M is the wife of N*
‘M + N" means ‘M is the husband of N’
‘M +N" means ‘M is the son of N
‘M — N’ means ‘M is the daughter of N*

How is C related to F in the expression ‘C+D+E—-F"?

Options :

1. % Husband's brother

5>  Daughter's son

3. # Brother's son

4. % Son's son



Question Number : 2 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

M x N =il 24¢] & ‘M % Nef| Ueed] &

‘M + N o1l 2] & M 2 Nefl uld &

‘M + N <1l 4] & ‘M 2 Nefl (652 &

‘M= N ofl 28] & ‘M 2 Nei| (652 &
‘C+D+E-FHlCUWF AU 58 Hoilad 87

Options :

1 % Uldetl 8iLe

5> o« (65301 (521

5 % @Ol (6520

4 % (652l (€52

Question Number : 3 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Mark says, "Ayushi's mother's husband is my father." How is Mark related to his Ayushi?
Options :

1.« Brother

2. % Son

3. % Father

4. % Husband



Question Number : 3 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0
HLS 58 8, "Nl Hldledl uld HIL [l 8. 1S ) 2] H1E 3d] 2ld dedldd 87

Options :
1 v 1O
2 % (6521

3 % [Udl

4. % uld

Question Number : 4 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The given Venn diagram shows the mumber of students who like different subjects namely maths and science. Find the

number of students who like either Maths or Science but not both.

Math Science

Options:



Question Number : 4 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

(0 Qe S Al (abgteudlefl 2uatl 621[a B Fua ARl 2 (st Bl ogel el Gl A §, va
(bl o] 241 Qe 3 B4 Sl Uit 42 (et ke, B Udg el ot

Math Science

9] : Math-1[Rld,, Science-{astl«
Options :
| % 328
5 & 280

3 % 270

4 % 308

Question Number : 5 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0



The given Venn diagram shows the number of students whose hobbies are Singing, Dancing and Painting, How many

students like either Dancing or Painting but not Singing?

Singing Dancing

A%é
Palnting

Options :

1. % 144

5 % 140

3 v 141

4 % 143

Question Number : 5 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

(09 A SLuL30H g (b1 ullo] Aot £11Q & Bl AW Olfet, ol vhet [R5 B, 3ol (@i 81
dl Sllsio1 % Uehle2o1 uale, B ualotale uale, ell?

Singing Dancing

A%&
Palnting

¥ : Singing- 112, Dancing- 4, Painfing- RUASIH




Options :

| % 144

5> % 140

3 v 141

4 % 143

Question Number : 6 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0

Two statements are given, followed by two conclusions mumbered I, and II. Assuming the statements to be true, even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

No metals are liquids.

All liquids are beverages.

Conclusions:

I, Some beverages are not metals,

IL. Some beverages are liquids.
Options :

1 % Only conclusion I follows

5> % Only conclusion II follows

3.« Both conclusions I and II follow

4. % Neither conclusion I nor II follows



Question Number : 6 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

6] (Qef] Q] il B, AlRolE, 6 (sl 1, el 1 1] il B, G YR [edeel] AR B, HE

U114 210 sl el ot (Ghat St aq 419, 195 52 3 (rdeetliell s (el i35 21d w4t 8.

[

916 €licul) yalelud] el

| yatelod Wl 8,

ol

RUEN TR

[RIEETRYGTE M)

Options :
1w S5 [otos | W2 B
5 s S5t (A 1w B

5 o lotos 3l 1] Gl W B

g Al s 1o (s w2 8

Question Number : 7 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Three statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

All students are studious.

Some students are athletes.

No athletes are perfect.

Conclusions:

1. Some athletes are studious.

I1. No student are perfect.
Options :

1« Only conclusion I follows

> % Only conclusion II follows

3. % Both conclusions I and II follow

4. % Neither conclusion I nor II follows

Question Number : 7 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

A2 (AQeell (UH] il B, lRule & (AN |, el 1 UMl el B, 0 1R (el ARl B, 4
] 1M1 31t el el 2t (et 1a A @, sl 520 3 (etdeetluiel] st (o] ifBs 2l wiepd
.

[tleel:
g (qtgelfed) ¢l 9,
w8 (qtg1efedl madlz 9.

816 ctdl? Ayl e
ol

| 2445 Mddl 494 B,
1, 516 (atel] 1l oel]



Options :

1 o 5 [o1os | W22 B

5w S5 (AN 1w B

5w oSt 1 uel 1] 6o 2o B

g Al s 1o (s we2R 8

Question Number : 8 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

The question below consists of a question and two statements numbered I and II given below it. You have to decide

whether the data provided in the statements are sufficient to answer the question. Read both the statements and give

ansWer.

Question: What was the day on 25th March 1997?

Statement I: 25 March 1996 was a Thursday.

Statement IT: 1st January 1990 was a Monday.

Options :

1. % I alone is sufficient while II alone is not sufficient
2. % II alone is sufficient while I alone is not sufficient

3.« Either I or IT is sufficient

4. % Neither I nor IT is sufficient



Question Number : 8 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

of et Ml 215 3t 4o} lf] of 2 2410 | 2t 1 Rttt ) (el o) 1001 & ), M2 o155 52 usQl &
(e oM 24Ut 24139 21 Wkl oyl 2yl M2 aell % B, ol (At el e el Y,

y81: 2501 R 199741 (693 4l 4 &dl?

[qele I: 25 4] 1996 2L AR &l
[qelet 11 16{] o] 1990 % AHaR &l

Options :

e (Aot 1 905G YR B AR X [Alet 11 Rsq Y otel]
, s (Gt 11 95g YR B R [Axlet 1 Rsq Yo 1ol
5« Sldl (Anlef | wid] 11 Y2l B

4w Al 1ot YdL 8

Question Number : 9 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The question below consists of a question and two statements numbered I and II given below it. You have to decide

whether the data provided in the statements are sufficient to answer the question. Read both the statements and give

answe.

Question: What is the weight of the new man?

Statement I: Average weight of 20 men is 30 kg.

Statement IT: A new man joins the group and the average weight becomes 32.

Note: For this question, discrepancy is found in

question/answer. So,this question is ignored for



all candidates.

Options :

1. T alone is sufficient while IT alone is not sufficient
2. II alone is sufficient while I alone is not sufficient

3 Both I'and II together is sufficient

4, Neither I nor IT is sufficient

Question Number : 9 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

of et ] 25 3t 24}l of 2 w410 | e 1 Rttt ) (el o) ih01 2 . M2 o5 52 usdl &
(o] 24 rut ] 24199 St Wil vl 2l M2 aell B % 5, el (o el e s 24,

YA: o1 H(90¥e] et e 87
(1ot I: 20 Yl 13191 909t 30 (541 B,

[ 1: 25 ot M103 geH] 151 ) et M2 % 32 U1 )

Note: For this question, discrepancy is found in
question/answer. So,this question is ignored for

all candidates.

Options:

, Aot 1 915G Y2d B 2R 5 (Al 1l Wsq Yoq «iell



, [Atlet 11959 Yo B 2R S (Aulet | 2159 yq ~tell

3 Shdl (Aulet | w1d] 11 Y2l B

4 Ll Qe Ted 1 YRl 8

Question Number : 10 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Select the figure that will replace the question mark (?) in the following figure series.

SIRAIIARIAR

Cd

Options :

)

A

1.9




A,

Question Number : 10 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

of | Aod] w1s(d AR u (& (7) A 22l 21d] 21sdl wisld ue s20.

NEIAE

i

Options :

yh

1.4
2. %
3. %



A,

Question Number : 11 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Select the figure that will replace the question mark (?) in the following figure series.

—— =X

— X X X

XX XX
——=X X

Options :

X X
X X
X X

X X
X X
X X

X X
X X

X X
X X
X X

2.

X X
X X

X X
X X
X X




4. %

Question Number : 11 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

of | Aod] w1s(d AR u (& (7) A 22l 21d] 21sdl wisld ue s20.

——=—=|—==X|-X X X|X X X X

—— — — ] —— — —

———=|==Xx X 2

Options :

XXX X
K XXX
XX XX

X X X X

X X X X
—— X X

XXX
X X X X




Question Number : 12 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Find out the answer figure in which the given question figures is embedded. (Rotation not allowed)

/

Options :




N

Question Number : 12 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

) od |y w15(d 90l B w10 ysied] 1150d 9218 8. (UReMEIH] udl«]] «f2l)

/

Options :

W

<




Question Number : 13 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Identify the figure that completes the pattern.

Options :

2. ¢




4. %

Question Number : 13 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Ueela Yl 52l w1s(d vilowd),

Options :

2.




Question Number : 14 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0
A paper is folded and cut as shown below. How will it appear when unfolded?

Options :

ooo
oono

Oo0ooo
Ooooo

N
%
00
OO



O 0
ooo

Question Number : 14 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

of [ Gt e YH18) A 51101 Alad Ml 4 S[uai] 1 8, o3 2 uladH] 11a9) @l d 3] Jwi9l?

+*T

¢ L]
i
[ ' '
i i
L]
\

'

s

s
LY

Options :
O 0O
O O
1. %
ooo
oaad
2. %
Oo0ooo
oooao

3.¢



O 0O
ooo
4. %

Question Number : 15 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Choose a figure pair similar to the pair in the question figure.

ANPAN

I I1
Options :
T
1
1
1 5
|
:
- I ! 11
|
|
()9
I 4
|
|
5 % I : I
1
1
1
OH®
[
1
S |
3 % !

4.¢



(i)

II

Question Number : 15 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

ygl w15 (dHistl 1Sl Bl w1s[defl 218l ure 530,

ANPAN

I II
Options :
1
1
1
| 5
|
:
- I ! 11
i
()14
| 4
[
[
5 % I | I1
1
[
OHe
[
1
[
S |
3. # !

4.+



(i)

I1

Question Number : 16 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Choose the figure pair which is different from the rest.

Options :

K

)

) I 11
1, %
]
}
/ N
|
|
I, I
2. :
1
|
|
P:q
|
| ||
3. % |
1
|
|
F i
|
| SR ||
4. % '

Question Number : 16 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0

2] w15[defl oSl ue 52 B Wisledl scl 12 €l

Options :

K

b

e ————

) I 11
1. %
]
i
/ N
|
I
2. :
L
|
|
P9
|
) | L ||
3. ® |
1
|
|
F i3
|
, | ||
4, % '

Question Number : 17 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

If A denotes “addition’, B denotes ‘subtraction’, C denotes ‘division’, and D denotes ‘multiplication’, then what will be
the value of the following equation?

18D2A4C2=7

Options :



2. 38

3. #® 39

~

4, % 42

Question Number : 17 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

o] A% 101 4udq €1, B 3 w18l uaq €1, C ) ISR Hudq Sl 3 D ¥ V]IS Hag

Sl ] of et Ul 5221 Yt 9] 8917

18D2A4C2="

Options :

1. % 33

2.« 38

3 % 39

4 % 42

Question Number : 18 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

If the positions of the hundred's and the ten's digits within each number are interchanged, which of the following will be

the hundred digit of the second-highest number?

732549 618 427 935

Options :



Question Number : 18 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
o] 635 Aulef] 2162 % AUcts A §2etl 18\el] (281t} 2 50d]on1 212 el w19, ol flAetmiel] s oiloy

Alef] 12| uaied] a1ds s sdl?
732549 618 427 935

Options :

1.¢ 3

Question Number : 19 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which two signs should be interchanged to make the given equation correct?
25+4+2%3-6=25



Options :

1.+ -and +
2« +tand=
3. % =and >
4. % *and -

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 19 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

w04 HH 5200 U1 wetldd] Ul s21 A Al U2 wledd] %1627
25+4+2x3-6=25
Options :

1.4 -:U-|;|.+
2.v ¥l =

3. % =1;H><

4, #® xbﬁ-

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.



Question Number : 20 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Which of the following numbers will replace the question mark (?) in the given series?
29, 37,47, 59,73, 7

Options :

1.v 89

Question Number : 20 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

w0 AeilHi «{|AetHiel] 58 vl ust & (?) <1l 2Ll 1419917
29, 37, 47, 59, 73, ?

Options:
1.« 89
2 = 87

3 # 82

4 % 8b



Question Number : 21 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following numbers will replace the question mark (?) in the given series?
71, 89, 107, 125, 143,?

Options :

1 % 155

3 v 161

4 % 167

Question Number : 21 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

w0 AeilHi «{|AetHiel] 58 vl ust & (?) <1l 2Ll 1419917
71,89, 107, 125, 143, ?

Options:
1. % 165
> % 168

3 v 161

4 % 167



Question Number : 22 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Approximate the value of 7.3 + 2.9 using rounding to two decimal places.

Options :

LN

-

1.¢ 2.

Question Number : 22 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

A 21121 2Ll Yelol yulls 521 7.3 = 2.9 «fl viel(%¥d (5.
Options :

| v 252

5, % 3.26

3 % 3.81

4 % 2.1

Question Number : 23 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



The question below consists of a question and two statements numbered I and II given below it. You have to decide
whether the data provided in the statements are sufficient to answer the question. Read both the statements and give
anSWer.

Question: What is the area of the sphere?

Statement I; The diameter of the sphere is 14 cm.

Statement IT: The volume of the sphere is 321 cn’.

Options :

1. % I alone is sufficient while II alone is not sufficient
2. % II alone is sufficient while I alone is not sufficient
3.« Either I or IT is sufficient

4. % Neither I nor IT is sufficient

Question Number : 23 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

of et Wt 25 43t 4o} ol of 2 410 | 24 1 fsRet 1t 4 (el o) (001 &L B, M3 ol 524 usdl 3
el 241y i w4109 32l ystedl ol A1l M2 Yol B3 3, ol (atet ] 24t oyaioq ),

Y4l Btsn seg 87

[qdlef | Ael] ALY 14 cm D,
(G4 (e 11: N1l €501 321 o B,

Options:

e (Ao 195G YR B AR Y [Alet 11 56 Yo tel]

5w QA 112259 Yod B RS (Al 1 2159 Yoq el



5 o St (AUl 13 1R 8

4w ctdlaulet 1ot dl iy 8

Question Number : 24 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Select the option that is related to the third number in the same way as the second number is related to the first number.
13:182:88:7
Options:

1. % T258
2 % 7836
3. % 7638

4.« 7832

Question Number : 24 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

of|oy) Huay] udd] Hwal 118 % A Hodldd § 2 % 2 Al Aval 418 dltd €14 d (a5 g, 59).
13:182::88:7
Options:

| % 7258

5 % 7836



3 % 7638

4 v 7832

Question Number : 25 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Select the option that is related to the third number in the same way as the second number is related to the first number.
4:176::36:7
Options :

1 % 120

3.« 144

4 % 164

Question Number : 25 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

od]og) duay| yde] Au] 218 B 2d Al § uey 2a Aoy Aval 118 Aodldd €14 A (s g, 52).
44:176::36: 7
Options :

1 % 120

5 % 136



3 v 144

4 % 164

Question Number : 26 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Select the option that is related to the third number in the same way as the second number is related to the first number.
23:506:: 5427
Options :

1% 2471

5>« 2862

3 % 2836

Question Number : 26 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
of]ow) Auay| yde] Hual A8 2 21Q doiltid § oy 2 Aoy Al 418 Audldd SlU A [asey uaie, K
23:506:: 547

Options :

| % 2471

5 v 2862



3 % 2836

4 % 2743

Question Number : 27 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Select the option that is related to the third mumber in the same way as the second number is related to the first number.
25017503107
Options :

i )

1. % 274

> % 263

3 ¢ 217

Question Number : 27 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0

of]og) w2y uel vl 118 2la Aedld B Aos 1A A% vl A8 Aol bt €14 d [asey ue 531
25:175 2317

Options :

| % 274

5 % 263



3 v 217

4 % 238

Question Number : 28 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

The given table shows the number of pens, pencils and erasers in five different stationery shops. Find the difference

between the average number of pens and average number of pencils in all shops.

Numberof | Numberof | Number of
Shops i
Pens Pencils Erasers
A 226 98 204
B 232 g7 222
C 134 65 200
D 165 106 250
E 188 89 240
Options:
1. % 87
2 % 88
3 % 91
4.« 98

Question Number : 28 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0

w(Ug 5185 YRl 24G0L-ug] 22Qet?od] 1M1 Uet, Ul 2 e3mael] Uil £Q11A B, MM gS1etlH] Uetel
R0 Al el Lellef] H22191 vl el tslact 2,

el shops-§5lell, number of pens- Uete {4, number of pencils- U] el A, number of erasers-
Bmel] Hul

Number of | Numberof | Numberof
Shops :
Pens Pencils Erasers
A 226 98 204
B 232 g7 222
C 134 65 200
D 165 106 250
E 188 99 240
Options :
1. % 87
, % 88
3 % O1
4, v 98

Question Number : 29 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



The line graph shows the marks of Ashish and Saloni in 5 different subjects. Find the average number of marks obtained
by Saloni.

===arks ohtained by Ashish ~=~Marks obtained by Saloni

8

Marks obtained
=2 & 8 B

=2

Civies Histery  Mathematics  Physies Geography

Subjects

Options:

1 % 487

5>« 65.4

Question Number : 29 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



165 U5 5 61 el (lHE 2190 24 et 91 e1ld B, ueloflod Andet il 312l vyt 91l

=a=Marks obtained by Ashish -=~Marks obtained by Saloni

8

Marks obtained
=2 & 8 B

=]

Civies History  Mathematics  Physies Geagraphy

Subjects

Ae®l: marks obtained- H1d4| 4, subjects-ﬁbllﬂ, marks obtained by Ashish-uiL[2N Hndg I8l marks
obtained by Saloni-4lle]2A A3 981, Civies-o1l5 2R, History-B[ceL, Mathematics - @i,

Physics - 6] (152112 Geography-#211
Options :

| % 487

5 v 654

3 % 55.6

4 % 63.1

Question Number : 30 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



The pie chart shows the percentage of soaps sold by 5 different shops. Find the number of soaps sold by
shop B if the number of soaps sold by shop A is 1700.

Percentage of soaps sold

Options:

1 % 1230

> % 814

3 v 1100

4 % 982

Question Number : 30 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



U9 UL 5 L4 ¢5lel] ¢RI Al o] 21t euld . o 5let A 4l GUAME w1l Hlogef] Huall
1700 €14, dl §514 B 21 Allel dlojefl 2uayl 9l

el percentage of soaps sold- d¥(4¢| %H(&uﬂ 2slard]

Percentage of soaps sold

Options:

1 % 1230

5 % 814

5 v 1100

4 % 982

Is Section Default? : null

Question Number : 31 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0

The average expenditure of Viraj for the first 4 months of a year is Z 6200 and for the next 8 months, it is 26300. He
saved 212,400 during the year. Find his average monthly income,

Options:

1 % %6200



v 7300

3 % 7800

4 % %6500

Question Number : 31 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

QNet| Y2LH 4 Ml M2 [A2008el) 132121 Wl 26200 § 2 Uelet| 8 UleeAl-A]. 26300 B, A 2wl ay
€Ml 712,400 of| W 521 B, Qef] 232021 HIfS 21 2.

Options :

| = %6200

5« 7300

5 % 7800

4 % ¥6500

Question Number : 32 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The average weight of 16 men is increased by 3.5 kg when one of the men, who weighs 80 kg is replaced by a new man.

Find the weight of the new man.
Options :

|« 136kg



« 144 kg

» 140 kg

» 130kg

Question Number : 32 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

%RI13 80 kg % tR1dL 25 Udef] w02 ofd] U w19 B UL 16 Yl 1212l 4% 3.5 kg el st B
o] HIQRe] %ot 2l

Options :

. v 136 kg

, « 144kg

.« 140kg

4 % 130kg

Question Number : 33 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Accontainer contains 100 liters of milk. From that 10 litres of milk was taken out and replaced by water. This process

was repeated further two times. How much milk is now contained in the container?

Options :

1. % 81.1 liters



2 % 77.5 liters

3 % 62.3 liters

4.« 72.9 liters

Question Number : 33 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

25 ULAH1 100 (422 64 8. Auiel] 10 (622 ¢t 121 qetl 221t 1]l Gaami i@ ©, w1 lsy ay @ quid
Y219t Sl 1A B, & Ui kog ¢4 82

Options :
1 % 81.1[der
5> % 77.5 (@2

5« 62.3 (422

4 v 729 [der

Question Number : 34 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0
Find the value of "«.-"{'2342 + 24+ 12+ 24+ 49):;

Options:



Question Number : 34 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0
(2342 + 24 + 12 + 23 + 49) < Y& 2llHl:

Options :

1. % D2

> % 48

3 % 31

4.v 49

Question Number : 35 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The product of two numbers is 8427 and their H.C.F. is 53. Find the L.C.M. of the numbers.

Options:

1% 212

> % 106



3 v 159

Question Number : 35 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
o] udlst] J[BILSIR 8427 & wlel dMetl I AL 3L 53 8. 2 Hu[u{le] ¢ AL 2. Aldl..

Options :

| % 212

5 % 106

5 v 159

4 % 134

Question Number : 36 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Sagar worked for an NGO and gave food packets to 48 individuals for 60 days, how many days could he give them to
40 people?

Options :

1 = 66 days

5« 12 days



3 % 74days

4 % 05days

Question Number : 36 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

UPR W5 NGO HI2 514 52 8 %ie1 48 15121 60 (e HI2 55 Ube Al dl, %] 48l 40 L8l 2 w1yl €l
dl 3 %eql (e il 1l €12

Options :

1 % 66 [ed¥

> » 72 [ea

5 » 74 [e9

4 % 65 [ead

Question Number : 37 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Express 0.3666666..... as a vulgar fraction.

Options :

1« 11/30

5> % 13/30



3 % 17/30

4 % 22730

Question Number : 37 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

0.3666666..... ol AR WYRI[s dl% sauldl.
Options :

1 v 11/30

5> % 13130

3 % 17/30

4 % 22/30

Question Number : 38 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
Find the value of: 7255.5 + 725.55 + 72.555 + 7.2555 + 0.72555

Options :
1. % 8051.786805

5> « 8061.58605

3 % 8611.58605



4. % 8001.58605

Question Number : 38 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
7255.5 + 725.55 + 72.555 + 7.2555 + 0.72555 < Y& Q14|

Options :

1. % 8051.786805

2« 8061.58605

5 % 8611.58605

4. % 8001.58605

Question Number : 39 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0
There were two candidates running for municipal council. 42% of the vote went to Candidate M, who was defeated by

464 votes to Candidate N. Determine how many votes were cast overall in the election.

Options :

1 % 2700

3« 2900



4 % 2000

Question Number : 39 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

oARUI(G51o41 3 280lMi &) GREAR) Gletl Scll, 42% Hel GRS M A Mot B, % GRec N ol i 464 Uelle]
W1t 2l B, Y2l 563 3ol U Uil d 1551 52

Options :

| % 2700

5 % 2300

3. v 2900

4 % 2000

Question Number : 40 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Jeet spends 40% of his monthly income on food, 20% of the remaining on transportation and clothes, and saves 30% of

the remaining. If his monthly salary is 35,000, how much money does Jeet save every month?
Options :
1. % Z4850

5> % ¥4950

3« %5040



4 % F6400

Question Number : 40 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

el cet] MIRLS 18l 40% oA l21s HI2 Wl B, 618letlet] 20% URASH e SUSIUR WA B, e W8]
30% 6119 B, %) Aol H1RS UAR 735,000 1, dl %) €2 MleA Fel Tyt wuld @2

Options :
1. % 34850
> % 4950

3. v 25040

4 % ¥6400

Question Number : 41 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

A gardener planted a satinwood tree which shortens at the rate of 50% every year. If at present, the height of the tree is

740 cm, what will be the height of the tree after 3 years?
Options :
1.+ 92.5cm

2. % 88.4cm

3. % 93.6cm



4. % 95.5cm

Question Number : 41 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

s Hloflw) 35 41214959 i 54 % 62 AN 50% fl €1 25 ey B, ] SIgM] $15eH] GULE 740 om I, o]l 3
oy ye| qad] Gl Bod] 44l

Options :
1.« 92.5cm
> % 88.4cm

3 % 93.6 cm

4 % 95.5cm

Question Number : 42 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The selling price of 21 biscuit packets is the cost price of 27 biscuit packets. Find the profit percentage.
Options :
1. % 100/3%

2>« 200/7%

3 % 150/11%



4 % 130/7%

Question Number : 42 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

21 (w2612 Wxef] A (0l (Sud 27 (wrsle Ukeed] usd? (Budetl HHIA B, Asled] 251a13] 2lld),

Options :
1. % 100/3%
2 « 200/7%

5 % 150/11%

4 % 130/7%

Question Number : 43 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Dhruv sold a table to Kajal at a profit of 16%. Later on, Kajal sold it back to Dhruv at a profit of 10%, thereby gaining
21856. How much did Dhruv pay for the table originally?

Options:
1. % 15,600

5 % %13,000

3 % 214.000



» 216,000

Question Number : 43 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

413 16%etl o$lH] 516 2l 2], uiegnel] 5108 ) 204 10% el 151 U2 o) ULg) A2, Betlell A 21856
o] §126) 2], 4 Hor 2046 M hodl] (BHdl ysdl ecll?

Options:
| = 15,600
5 % ¥13,000

5 % 14,000

4 » 16,000

Question Number : 44 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

On a 57% discount sale, an article cost 5,590. What was the original price of the article?
Options :
1« 213,000

5 % %16.600

3 % 214.220



« 715,640

Question Number : 44 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
57% [S¥51G-2 A4 UR, S diqell (54d 25,590 8. ardell Yo (54d edl edl?

Options :
1.+ <13,000
9 % 316,600

5 % 14,220

4 % 15,640

Question Number : 45 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Three successive discounts of 12%, 24%, and 36% are equivalent to a single approximate discount of x%. Find the

value of x.

Options:

3. % 40



>
A
LN
|

Question Number : 45 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

12%, 24% el 36% AL AL 515 (S28(02 2 g 1[0 256 x% [S61Ge2eAL A58 D, x oAl [SHd 201t

Options :
1. % 33
> % 44

3 % 40

4.v 57

Question Number : 46 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
Two numbers M and N are in the ratio 4: 13 and their sum is 153. What 1s the value of M?

Options:



Question Number : 46 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
M 3ot N 6] {u (3] 4: 13 el AR[ITML B oA dUell A24101] 153 8. M o HEL 9] B2

Options :

1. % 45

> % b4

3 % 27

4. v 36

Question Number : 47 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Determine the fourth proportional to 16, 38, and 104.
Options :

1 % 209

2.« 247

4 % 219



Question Number : 47 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
16, 38 Wl 104 < Ule] UHILMUE QU1
Options:

1. % 209

2 v 247

3 % 337

4 % 219

Question Number : 48 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Find the mean proportional between 0.06 and 2.16.
Options:
1. % 0.96
2. % 0.66

3 v 036

4 % 0.036



Question Number : 48 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

0.06 uel 2.16 4o} I WMl Heals 2Lkl

Options :
1. % 0.96
> % 0.66

3 v 0.36

4 % 0.036

Question Number : 49 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In a bank, the monthly salary of employees and managers is in the ratio of 6: 13. Each employee contributes 5% and

each manager contributes 8% of his salary to the NGO. If each manager’s confribution is 6032, what will be the

employee’s salary?
Options :

1 v 334.800
5 % 324,600

3 % 244,900

4 % 23220



Question Number : 49 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

I5H], SR ) et Aol IS Y2UR 6: 13 ot QM ] B, €25 St el Wl 5% i 25 Bt
Qetl UI12e41 8% NGOA 101] WY B, %1 635 elowas] Alolelet 26032 €1, il s¥uL2led] WOl 3ol 812

Options :
1.+ 334,800
2 % 324,600

5 % 244,900

4 % 323,220

Question Number : 50 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
A pump can fill a tank in 20 hours. Due to a leak in the tank, It takes 43 hours to fill the tank. In how many hours leak

can empty the full tank?
Options :

1. % 680/11 hours
2. % 422/3 hours

3. % 380/7 hours

4.+ 860/23 hours



Question Number : 50 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

A5 YY 20 se1sul 28 218l @2l 23 8, 21slul [dausa dl8 218] eraiui 43 sdls €19 D,
L 1] (U4 dl8 wpud] 208] 3edl saisui wid] & o9l

Options :

| % 680/11 5€lS

2 % 42213 5415

3. % 380/7 5415

4 v 860/23 5615

Question Number : 51 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Accan do half of a work in 25 days. B can do two-fifths of the same work in 24 days and C can do one-third of that work

in 10 days. In how many days can three of them together complete the work?
Options:

1 = 200/19 days

100/17 days

3. « 100/7 days

300/39 days



Question Number : 51 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

ABSY 514 25 (6l 53] 2% 8. B2 % SHell G- @121 24 (el 521 2% 8 i C 3 Al B
dllculel @1 10 eyl 52l % 8. dull A9 ot Holld Sea [eaunl st yal 52l 21522

Options :

1 % 200/19 (e9y

5, % 100/17 (eQy

3 v 100/7 (¢4

4 % 300/39 [ea¥y

Question Number : 52 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Suresh covers the journey from station A to station B at a uniform speed of 3.6 km/hr and returns to A with a uniform

speed of 7.2 knv'hr. Find his average speed for the whole journey.
Options :

1.« 4.8 kin/hr

2 % 4.6 km/hr

3. % 7.6 km'hr

4. % 6.2 km/hr



Question Number : 52 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

3381 2200et ARl] 2201et B Hellot] 4t1621 3.6 kv of ) s2let %S0 193] % et 7.2 kv of] 21 U
AU UL 52 8. 1 8] HE2 ol 23191 o el

Options :
1.« 4.8 km/hr
> % 4.6 km/hr

3 % 7.6 km/hr

4. % 6.2 km/hr

Question Number : 53 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

A person crosses a 1920 m long street in 16 minutes. What is his speed in km per hour?
Options :

1. % 16.6 km/hr

2 % 3.7 km'hr

3. % 6.6 km'hr

4.« 7.2 km/hr



Question Number : 53 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

05 A (5d 16 (=12l 1920 m @ied] 23] U2 53 8. dlkm/hrHi defl 25U 3ed] §2
Options :

1 % 16.6 km/hr

2 % 3.7 km/hr

3 % 6.6 km/hr

4.« 1.2 km/hr

Question Number : 54 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

A man rows upstream 21 km and downstream 28 km taking 14 hours each time. Find the velocity of the current.
Options :

1.+ 0.25 km/hr

2 % 2.5 kmv/hr

3. % 1.25 km/hr

4. % 1.5 kmvhr

Question Number : 54 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0

05 H18LY Ualtsell (Goeg, (ER1MI 21 km v cltsell (€UHT 28 km 15| 41d & w4 €35 4uid et 14 54115
CINERTCIEENCNEETE

Options :
1« 0.25 km/hr
2 % 2.5 km/hr

3 % 1.25 km/hr

4. % 1.5 km/hr

Question Number : 55 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0
Atrain overtakes two persons walking along a railway track. The first one walks at 10.8 kmv/h and the other one walks at
7.2 knvh. The train needs 10 seconds and 8 seconds respectively, to overtake them. What is the speed of the train, if

both persons are walking in the same direction as the train?
Options:

1. % 35.5 km/hr

2.« 25.2 km/hr

3 % 22.7 km/hr

4. % 20 km/hr



Question Number : 55 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

05 2o 360 25ef] i Ul A A5l YR 52 B, udell (5 10.8 kv ofl 50 418 B il eflof] 5
7.2 ki oll 550 4@ 8. e U2 521 12 2etel el 10 Ae5 et 8 AsoS &1L B, %] vl [ sciudl 264 3
(el ] 2] B o [l 4@ B, dl et 15y hed] 912

Options :
1 % 35.5 km/hr
5> « 25.2 km/hr

3 % 22.7 km/hr

4. % 20 km/hr

Question Number : 56 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Ifa®-b*=2169 and a — b = 3, then find the value of (a2 + b?).

Options:

1 % 385

3.« 485

4 % 460



Question Number : 56 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

%l a® - b*=2169 sl a—b =3 &lY, dl (a + b?) o] Y& 214,
Options :

1. % 38b

> % 375

3 v 485

4 % 460

Question Number : 57 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

10 years ago, Raj's uncle was 8 times older than Raj. After 10 years, the uncle will be 28 years older than Raj. Find the

present age of Raj.
Options :

1 % 10years
5 o ldyears

3 % I8 years

4 % 20 years

Question Number : 57 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0

10 Y U4l 2020l $15120% Sctl 8 A1 Hl2L el 10 2 Ul 181, 21 Sctl 28 AN Hlel €8, 2A%eA] ddHlet
GuR 9l

Options :
1% 10ay
5 v 144y

5 =« 184y

4 % 20ay

Question Number : 58 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Find the 13th term of the arithmetic progression 7, 13, 19, 25, ....7
Options :

1. % 64

2. % OB

Question Number : 58 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0
UHIdR Aell 7, 13, 19, 25, ... o 134 Ug 201dl?

Options :

1. % 64

> % 68

3 % 17

4.« 19

Question Number : 59 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Find the sum of all numbers, which are divisible by 5 between 1400 to 1600.

Options:

| % 53,000

Question Number : 59 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



1400 #] 1600 <1l a2 5 93 @1of] sl Ad] dx Qv )] wal0] 2],
Options:

. = 53,000

, 50,500

3 v 58,500

4 % 57,300

Question Number : 60 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The 6th term and fourth term of a G.P are 7776 and 216 respectively. Find its Sth term.
Options :

1.+ 1296

2. % 216

3 % 3336

4 % 3690

Question Number : 60 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

RN ARle] 68 Ut wia) 1Y Ut wof 5D 7776 Bl 216 B. def 54 Ug 211l



Options :

| v 1296

5, % 216

3 % 3336

4 % 3690

Section B1 - Constitution of India, Current Affairs, Gujarati

Comprehension, English Comprehension

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Is Section Default? : null

Question Number : 61 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
What does the Preamble of India primarily aim to achieve?

Options :

1. ¥ Establish a federal structure

2. * Declare India as a socialist republic

3. ¢ Ensure justice, liberty, equality, and fraternity for its citizens

4. ¥ Define the powers of the President



Question Number : 61 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

-

GURAAL AL L2 BeY ¢ e sRall §7?
Options :

1. % quarRll Wiy g
2. % GLRdA AHIS UARATUS dRL5 AR 59
3. ¥ wdRl 527l § drdl ARIRLSIA A, AL AL 2L A olged HOL

4. % rpuld-l At cdrudl(sd s:ell

Question Number : 62 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

In recent news, the Punjab and Haryana High Court quashed Haryana's 75% private job

reservation law. What was the primary reason behind this decision?

Options :

1. * Violation of environmental regulations
2. ¥ Unconstitutional

3. * Frequent public protests

4. # Economic instability in the region

Question Number : 62 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

-~

AlFdReAL AHIARMI, Uoslod i sRAULRLL 1512 RURLAL 75% Wil s3I 2ellicd SIUELA € SAUL ¢l 2L (ARl

LU e SIREL 9L ed?

Options:



1. % vujaellu Huld Gedan
2. ¥ dRo{uRRIA
3. % qRdR e (Al

4, % ygoHi Ulels 2RAdL

Question Number : 63 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

The Intelligent Grievance Monitoring System (IGMS) 2.0 Dashboard was developed in collaboration

with which of the following?

Options :

1. #* IIT Madras

2. ® IIT Kharagpur
3. # IIT Bombay

4. « 1IT Kanpur

Question Number : 63 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

gre(dog-2 Al HiH2Ro Rizeu (IGMS) 2.0 Setedls Al2i-niall si-l AUl [dsAraami 20 sd?

S

Options :

1. % IIT uglt
2. % IIT wR2ryR
3. ¥ IIT ool

4. ¥ 1IT SiyR



Question Number : 64 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

In a move towards sustainable energy practices, the Ministry of Petroleum and Natural Gas has
declared mandatory blending of in the CNG (Transport) and PNG (Domestic) segments of
the City Gas Distribution (CGD) sector.

Options :

1. ¥ Compressed Bio-gas
2. # Compressed Shale-gas
3. * Bio-gas

4. % Shale-gas

Question Number : 64 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

2518 Q1o ULl dR1SHAL WL, U2UAun i sedl I ol RI2) 31 (SR2eyelt (CGD) &bl CNG (2L4Ule) i
PNG (siHRes) (dewori 4 s0¥ud (sLaL e s 8.

Options :

1. ¢ igd cwil-Sk1 (Compressed Bio-gas)

2. ¥ s(d eld-l4 (Compressed Shale-gas)

3. % 9%q-314 (Bio-gas)

4. % 3d-34 (Shale-gas)

Question Number : 65 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Who inaugurated ‘Unmesha’ - International Literature Festival and ‘Utkarsh’ - Festival of Folk and

Tribal Performing Arts at Bhopal?



Options :

1. ® Amit Shah

2. # Narendra Modi
3. ¥ Droupadi Murmu

4. % Shri Dharmendra Pradhan

Question Number : 65 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

A G,

GMLE WA “GAMY — HLARRABIAL AUSA Btd 3 ‘B5W — clls i dilfenld Ul 2021 Gide Bgle-t slal s4?

S

Options :

1. % [d 2s
2. % q3-g HIEL
3. ¢ Gludl wy

4, % | yeg usll-d

Question Number : 66 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Where is the New Parliament building situated?

Options:

1. ®# North of the existing parliament buildinig.
2. # South of the existing parliament buildinig.
3. ¢ East of the existing parliament buildinig.

4. # West of the existing parliament buildinig.



Question Number : 66 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Aq AAE Bld- sAL i B?
Options :

1. % @lel dAe G-l Grul
2. % Al AAe ool elelemi
3. ¥ larl e elaqtll Ydui.

4, ® -l AU Al WledHML.

Question Number : 67 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

SC Affirms Validity of “Self-Respect” Marriages Under Hindu Marriage Act over ruling which of the

following High Court's ruling?

Options :

1. # Allahabad High Court
2. * Bombay High Court
3. ¥ Calcutta High Court

4. ¥ Madras High Court

Question Number : 67 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

SC Ala-iell s8¢ slesiendl Ysiel UR (S da wu(A[Aun &5 "a-1iA (Self-Respect)” @l Hiudi-l yfE s2 8?2
Options:

1. % eslolle slgsie



® o] slsie
3. ¥ sdsdl elgsie

4. ¥ WA sIgsle

Question Number : 68 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0
Which state has recently passed a resolution seeking the grant of Special Category Status (SCS)?

Options :

1. % Assam

2. # Telangana
3. # Sikkim

4.« Bihar

Question Number : 68 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

SUL A% AU AU 522121 222 (SCS)-L virfuld Hidldl 52U UAR sUL §?
Options:

1. % 20m
2. % dqddel
3. % [RUsslu

4. ¢ (lsIR

Question Number : 69 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0

The Union Cabinet, under the leadership of Prime Minister Shri Narendra Modi, has approved the
extension of the Fast Track Special Courts from April 1, 2023, to March 31, 2026. What was the

purpose of these special courts?

Options :
1. # To reduce the burden on existing courts.

2. ¥ To expedite trials, providing immediate relief to victims and strengthening the deterrence

framework against sexual offenders.
3. # To expose and reduce corruption related cases in public sectors.

4. ® To provide justice to remote area victims who cannot have access to normal courts.

Question Number : 69 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
Ul fl AReg HIEAL Adcd 501, Segla HaAkise 35Ul aUfdAl (et ie1edl (Fast Track Special Courts)d 1

-

2A0ie, 20232l 31 i, 2026 Y ciotadi-l HaRl 2l B, i (deim Aelddiql &g ¢ edl?

Options :

1. # sla-l A1l UL ol L2154l

2. ¢ vigridell sl 35l sl Uldin dicsiEs e Yl uisdl 2wl 218 53R (dg [HaReL Hovid

Hold S,
3. % o1d2 glallHi aiRIAIR AoifEd oiidi vedl wisdl i t2Lsdl.

4. % A Aeletdl el vl 2usdl A el 2l g2xL (dreltReAl (lSdiAl 2w il

Question Number : 70 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

India is undergoing substantial legal transformation, with proposed reforms including the

replacement of the Indian Penal Code (IPC) 1860. What is the primary focus of the proposed



Bharatiya Nyaya Sanhita (BNS)?

Options :

1. ® Enhancing citizen safety through streamlined criminal proceedings

2. ¥ Prioritizing offences against the state, crimes against women and children, and murder
3. # Introducing community service as a punishment

4. # Bolstering the reliability of evidence in court through the Bharatiya Sakshya Bill

Question Number : 70 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

el €5 (&l (IPC) 1860 -l oiecl Al&ct ARl AURAAL A1 GURC AUl SILESIU URddAHiE] AR U 28] ©.

WRellldd Rl AL A(&dL (BNS) walis et o 9?
Options :

1. # qoudRAd slweRl silaldl gl ARIRsIHL Admdl asirdl
2. ¢ A [A3gel oAl 1SRl duos olasl ([A3gel ARl il @il Al WS 24
3. % o d215 AHI Al Erd sl

4, % oyRdld A8 (6d glrL siei yldi-l ([deau-ludid Uicdied g

Is Section Default? : null

Question Number : 71 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

What International award was awarded to Indian comedian Vir Das for his Netflix show "Vir Das:

Landing on Monday"

Options :

1. ¥ QOscar



2. ¥ Emmy
3. ¥ People's Choice Awards

4. % The Golden Globe

Question Number : 71 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

IR €RU SAISR R €14 d-Al A2(sEs 2l "dlR €14 AR {0 H-S (Vir Das: Landing on Monday) " 12 sil

-

ARRUBIA YRSIR VAl SAML UL dll?
Options :

1. % 2RsR (Oscar)
2. ¢ 21l (Emmy)
3. % Jlue AlLy 2AdlS (People's Choice Awards)

4. % ¢ oS ddlol (The Golden Globe)

Question Number : 72 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0
Which country was appointed the Chair of the International Sugar Organisation for 2024?

Options :
1. # China
2. * Phillipines
3. ¥ India

4. % Japan

Question Number : 72 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0

-

sl g2l 2024 HI2 grerrleldd YR IRl 28t (Chair) (s sAML Ul sdl?
Options :

1. % 24
2. ® gldlug-
3. ¥ dRd

4, % g

Question Number : 73 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Who was named Men's Player of the Tournament in the Cricket World Cup 20237

Options :

1. * Rohit Sharma
2. ¥ Virat Kohli

3. # Glen Maxwell

4. ¥ Mohammad Shami

Question Number : 73 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

(552 deS su 2023 Wt WAUR llg & 2l Sl 2R SRAML 2URU?
Options :

1. % Qed el

2. ¢ [drl2 sisdl



3. ¥ odd HsAdA

4, ® yierie UMl

Question Number : 74 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Which Indian badminton player secured a bronze medal in the men'’s singles at the BWF World

Badminton Championships 2023?

Options:

1. # PV Sindhu

2. % Lakshya Sen

3. #* Kidambi Srikanth

4. ¥ HS Prannoy

Question Number : 74 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

-

sUL GIRAIY oLS[re vidiSll BWF des oisred AR 202311 YAl RPIRAHL si 2igs Hnedl ¢dl?
Options :

1. % \dl Ry

2. % ey A

3. ® (seioll 2llsid

4, ¥ 21319 UYL

Question Number : 75 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Who was recently appointed as the new head of NASA’s ‘Moon to Mars mission who is of Indian
origin?

Options :

1. ¢ Amit Kshatriya

2. ¥ AC Charania

3. #* Sharmila Bhattacharya

4. # Murthy Gudipati

Question Number : 75 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

A ARHL LAl 2Ugell Hoto (Hetl Adl ast dRlS st ([HELs sl 2udl edl % eldlx Yol §?
Options :

1. ¢ 2ld B
2. % 21 u-lUL
3. % onilel ¢zl

4, % el aglufd

Question Number : 76 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

The 9th National Level Pollution Response Exercise (NATPOLREX-IX) was carried out by the Indian

Coast Guard in which state?

Options :
1. * Maharastra

2. % Tamil Nadu



3. * Vizag

4. ¥ Guijarat

Question Number : 76 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

9l el dad Uieelrd RaUl1 3isuA8% (NATPOLREX-IX) UL A%UML HRAAL S1R2 2US gIRL ¢lad SR iid)

&dl?
Options:

1. % HeRER
2. % dMd g
3. % (daswat

4. ¥ ds1d

Question Number : 77 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
What is the primary objective of the Vishwakarma Yojana launched by the Indian government?

Options:

1. # Promotion of modern Indian crafts and artisans

2. # Financial support for small-scale industries

3. ¥ To provide financial assistance, training, and welfare support to workers in various sectors.

4. % Agricultural subsidies for farmers

Question Number : 77 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



GURA ASIR gIRL 13 SAAA, (deasHl Al Weallls Geed 3 §?
Options :

1. ¥ 204s clRdlA ASAL 24 sAUCNAA Uedlerd 240G
2. % il 1ALl GELILL L2 AlRUSIA A1

3. ¢ (Ads sptimi SHERIA ARSI A, dledlH i SEARL Asd Y3 wisdl,

AW

4. % visdl wie s AR

Question Number : 78 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0

Which of the following statements is true regarding the Indian government scheme DAY-NULM

(Deendayal Antyodaya Yojana-National Urban Livelihoods Mission)?

Options :
1. # The scheme exclusively targets the promotion of education in urban areas.

2. ¥ The scheme aims to alleviate poverty and enhance livelihood opportunities for the urban

poor.
3. # It stands for Deendayal Atal Yojana for National Urban Livelihoods Mission

4. # The DAY-NULM scheme primarily focuses on rural development initiatives.

Question Number : 78 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

AR AR51R-AL ULl DAY-NULM (Eledion diclied Alo-il-uBla 2183 2u2(dst (eit) 2190 Al-miell 53 (et 112

-

9?
Options :
1. % By Alegel vl 53 282 ([AelRIML (Rlatai Wetierd Al e vl 6.

2.



7 2L AL &t 2R100 €2 SRl i 213 RNl M2 2 (AsiHL dsl atRalAl .

A\ A

3. % ddll udaol ABIA 2AS2 0% [dsL (Lot WIS ElHeAlo 22 Ulog-L Al A O

4, ¥ DAY-NULM ot youed AL (A5 ude UR 2uid 502 52 9.

Question Number : 79 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0
The veteran soldier, Rajindar Singh Dhatt won which award?

Options :

1. ¢ Points of light award

2. ¥ Points of bravery award
3. # Points of Fire award

4. # Points of diligence award

Question Number : 79 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

< A C

e AlAs A€ Ris 43 sl IS Pl H?
Options :

1. ¢ Ulg-2 2lls dige »diS (Points of light award)
2. % g2 2ilg olaRl 21diS (Points of bravery award)
3. % Ulg-2 1 2ilg sl »1dlS (Points of Fire award)

4. ¥ g2 2{g Sl 21l ( Points of diligence award)

Question Number : 80 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0

Which of the following schemes was launched by the Jharkhand government with the goal of

providing land title certificates to individuals and communities under the Forest Rights Act?

Options :

1. % Pradhan Mantri Kisan Samman Nidhi
2. * Vibrant Villages Programme

3. ¥ Abua Bir Dishom Abhiyan

4. % Mission Amrit Sarovar

Question Number : 80 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

del B(ASR (UM 50 @5l i AU AL HUASIL WHIRMAL BUUALAL Q8 A1 BIRVLS AR GIRL

A2l 5 Ulogl 213 ScAML 2] sdl?
Options:

1. % ye-pisll (Sae anuq [AE
2. % quol-e (ddos wium
3. ¢ 2011 612 (Relld (el

4. % (el viHd ARAAR

Is Section Default? : null

Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern
Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Question Numbers : (81 to 87)
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Sub questions

Question Number : 81 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

MR ¢l g5 U 2llbs &Y Sl 2A5?
Options :

1. ¥ oguyqls
2. ¥ ogunRis2
3. ¥ ogqyar

4, % a2l



Question Number : 82 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

-

e, W12 UYL YA, sl
Options :

1. % o3
2. % q3)
3. ¢ AR

4. % qrl

Question Number : 83 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

SR eloe-l [Aaglell el stel
Options :

1. %

2. % sl

3. ¥y

4. % qlL

Question Number : 84 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

g5_Ul Srgadl (AR 9 &?
Options :

1. ¢ o [&d-



2. % 2B~
3. #® gL

4. % sNRld

Question Number : 85 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0

dHIRL g3l 1L 553U sleulds © § dddesll d sl
Options :

1. & 40l
2. ¥ diRddsdl
3. ® siaulds

4. ® qudl

Question Number : 86 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Y AN

sSAMEll % tald UUS © d UL D?
Options :

1. ¥ well 2

2. % s 2is2ul ®

-\

3. # 1% GAuled ALY B

S

4, % e UM B

Question Number : 87 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0

-

Alels eloe-l el sl
Options :

1. ¢ 22U0R
2. % qyel
3. ® (ds

4. % 9ls

Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern
Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Question Numbers : (81 to 87)
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AARL Y i 3uell ay g2l Wil 2l6dR s2ls2l Atel. 2L ELllHL (R URL AHA B, ALSUS AL SUIE 6l B,
YRR EelHl dRALE] UHIGL UL 2, B2 AURRAHTY, GLERSIRL 24 %Y d-L vieud dlE nRalld (Hlae
8. £o5101 i WAL 24 s el o o1l A B, UL dAdMlriAL % SSI3UL L €l Ul U 5 Yo o] uglH) (Rl sui s=d)

ddl WA RIS L AR 2R HIZ VRS ALGId 2 215 dH 9. BRUL il AHUUL UIRIL 24 4411, 2489 ctll

A A A

URRAMAL et idi ) &4y © i €] s © d-ll [dauR sl 3R 9.

epLel el ldarl ARR1eL 10 g2 el Gist gl epLelui Gist Gldrdl % ©.2uell Wl wed viellz ot 26l . %0

2 g5 U el a-Hd ©.

A A\ A

o8l ¢d uLRllAL 52152 €2 ol ol AUUU AR dll AL GeUleL UR % USclrAl SlAul 241l ddll 4 el Rald

(Aol 2L YRR Sl %, 2L el 4sl ddidl ©.URNHL MM Ul B5AdL HI2 ASSH, dolld, AR, LS, vid

et

deltasl, AL sal, woudl, il ddlR glRL artexl 2MN2ML Wl i2ts s d-ll Geules GulL sal Ridid ol

st ol» (dse gl el 20 12 e Wl arul, &R0 wiall ML, widr Wl wdui, dUH Wl UMl i 211

-\

WL 21U 1L YA Alels S RURAAL BdSIOAL AL ACURL Sl HIGH USeL 5 % o] dRRle (U i A1RL 2



o ol 241els (Asi Glll éal Uil 8. (dedrl 244 WRetl oiaL ¢ 8. 5111 el €0%ell ay o s 20euRd 8. dusl

-

S dRALE LR ) iU B,

Sub questions

Question Number : 81 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

MRl ¢l g5 A 2llts &Y Sl 2A5?
Options :

1. ¥ oguyqls
2. ¥ ogunRis2
3. # ogqyar

4, ® 08Il

Question Number : 82 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

AL

e, W12 UYL YA, sl
Options :

1. % o3
2. % q3)
3. ¢ AR

4. % qrl

Question Number : 83 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



SRL 2Lee-l [Aagell el stel
Options:

1. % ol

2. % gl

Question Number : 84 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

gs_Ul Srgadl (AR 9 &?
Options :

1.+ o Rd-

2. % %G~

3. % g-Rel

4. % sNRId

Question Number : 85 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

dMIRL g[Bu 211 553U sleU[s © 5 didaell d wrudl
Options:

1. # 4200
2. ¥ dRddS<l

3. ¥ giyfds



4. % qudl

Question Number : 86 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

A Y

gAML % el UMUS © d sUL D?
Options :

1. v well > §

2. ¥ sfiAsaui ®

N

3. ® 1% GAule Y O

S

4, % 911 2[RI ©

Question Number : 87 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

RPN

Alels eloedl wiel 2Ll

Options :

1. ¢ lueR

2. % eq(yel

3. % (dzels

4, % w5

Is Section Default? : null

Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern

Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Question Numbers : (88 to 92)

Read the given passage carefully and select the most appropriate answer to the questions that

follow.

A Shrewsbury cake or Shrewsbury biscuit is a classic English dessert, named after Shrewsbury, the
county town of Shropshire. They are made from dough that contains sugar, flour, egg, butter and
lemon zest; dried fruit is also often added. Shrewsbury cakes can be small in size for serving
several at a time, or large for serving as a dessert in themselves. The earliest known written
reference for Shrewsbury cakes dates to 1602. The original cakes, delicate and fragile in texture,
are no longer made commercially. These cakes were very different from the modern Shrewsbury
biscuits which are still handcrafted in Shrewsbury. The playwright William Congreve mentioned
Shrewsbury cakes in his play The Way of the World in 1700 as a simile. Although there are earlier
references, Shrewsbury baker Thomas Plimmer claimed that he had acquired the original recipe

from James Palin, who sold the cakes out of a bakeshop on Castle Street in Shrewsbury.

Sub questions

Question Number : 88 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0
Identify the suitable title for the passage.

Options :

1. * Writer William Congreve
2. # Desserts of the World

3. # England’s Baking History

4. ¥ Shrewsbury Biscuits

Question Number : 89 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Identify the tone of the passage.
Options:

1.



% Biased Tone
2. % Narrative Tone
3. # Nostalgic Tone

4. # Cynical Tone

Question Number : 90 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Identify the facts given in the passage.

Options :

1. ¢ The playwright William Congreve mentioned Shrewsbury cakes in his play.

2. ® The original recipe of Shrewsbury cakes was taken from Thomas Plimmer.

3. # The earliest known written reference for Shrewsbury cakes dates to the 16th century.

4. ® They are made from dough that lemon and orange zest.

Question Number : 91 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Identify the correct inference drawn from the passage.

Options:

1. ®# The Shrewsbury cake is a classic English dessert, named after Shrewsbury, the county town of

Shropshire and the same signature recipe is being followed through centuries.

2. ® The cakes sold today are very similar to the ones that were earlier handcrafted in

Shrewsbury.

3. ¥ The Shrewsbury cake is a classic English dessert dated back the 17th century, a very different

variation of the same are still sold today.

4. ® The playwright William Congreve discovered the Shrewsbury cakes during his play The Way
of the World.



Question Number : 92 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Identify the structure of the passage.

Options:

1. # Compare and Contrast
2. ¥ Descriptive

3. * Order of Importance

4. % Problem and Solution

Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern
Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Question Numbers : (88 to 92)

Read the given passage carefully and select the most appropriate answer to the questions that

follow.

A Shrewsbury cake or Shrewsbury biscuit is a classic English dessert, named after Shrewsbury, the
county town of Shropshire. They are made from dough that contains sugar, flour, egg, butter and
lemon zest; dried fruit is also often added. Shrewsbury cakes can be small in size for serving
several at a time, or large for serving as a dessert in themselves. The earliest known written
reference for Shrewsbury cakes dates to 1602. The original cakes, delicate and fragile in texture,
are no longer made commercially. These cakes were very different from the modern Shrewsbury
biscuits which are still handcrafted in Shrewsbury. The playwright William Congreve mentioned
Shrewsbury cakes in his play The Way of the World in 1700 as a simile. Although there are earlier
references, Shrewsbury baker Thomas Plimmer claimed that he had acquired the original recipe

from James Palin, who sold the cakes out of a bakeshop on Castle Street in Shrewsbury.

Sub questions

Question Number : 88 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0
Identify the suitable title for the passage.

Options :

1. # Writer William Congreve
2. # Desserts of the World

3. # England’'s Baking History

4. ¥ Shrewsbury Biscuits

Question Number : 89 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Identify the tone of the passage.

Options:

1. # Biased Tone
2. ¥ Narrative Tone
3. # Nostalgic Tone

4. ® Cynical Tone

Question Number : 90 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0
Identify the facts given in the passage.

Options :

1. ¥ The playwright William Congreve mentioned Shrewsbury cakes in his play.

2. # The original recipe of Shrewsbury cakes was taken from Thomas Plimmer.

3. ® The earliest known written reference for Shrewsbury cakes dates to the 16th century.

4. # They are made from dough that lemon and orange zest.



Question Number : 91 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Identify the correct inference drawn from the passage.

Options:

1. ®# The Shrewsbury cake is a classic English dessert, named after Shrewsbury, the county town of

Shropshire and the same signature recipe is being followed through centuries.

2. ® The cakes sold today are very similar to the ones that were earlier handcrafted in

Shrewsbury.

3. ¥ The Shrewsbury cake is a classic English dessert dated back the 17th century, a very different

variation of the same are still sold today.

4. ® The playwright William Congreve discovered the Shrewsbury cakes during his play The Way
of the World.

Question Number : 92 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Identify the structure of the passage.

Options:

1. ¥ Compare and Contrast
2. ¥ Descriptive

3. # Order of Importance

4. ¥ Problem and Solution

Section B2 - Technical Qualification

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Maximum Instruction Time: 0

Is Section Default? : null

Question Number : 93 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following statement is correct regarding frog in brick?
I. The purpose of providing frog is to form a key for holding the mortar

IT. The size of frog should be 10 cm * 4 em % 1 cm

Options :

1 = Onlyl

> % OnlylIl

3 « BothIandII

4. % Neither I nor II

Question Number : 93 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

{521ef] GURetl 1OH] [UaH] 2191 WISL Al (frog) @191 Aol o{1A wauiel 53 [dels A1 87
. B2 U2 frogell &q el [ileeet] M1l ussl Awaled] B

I Froge] 4[4 10 cm x 4 cm x 1 cm €1g %16

Options :

1 = o5 |

5w 5 i



3 v | Ul ] ol

4 % cdllell

Question Number : 94 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following ingredient of brick gives red colour?

Options:
1.« Iron oxide
2. # Silica

3. % Alumina

4. % Lime

Question Number : 94 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

oA UG He] 211 52l ees W d19 2L sl 53 87
Options :

MEVRTIEIE R ESTES

5« [udlst



- u]q(Hodl

4 % @Y

Question Number : 95 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Soundness test of cement is done using, which of the following apparatus?
Options :

1 % Vicatapparatus
5> « Le chatelier apparatus
3 » Blaine’s air permeability

4 % Compressive testing machine

Question Number : 95 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

of 10 w4 [QHief] 531 Gusalefl GualoL 521 (HRepsl HoyoydlleSe] uzleal s2a Ml w1d &2

Options :

, w [A52 (Vicat) M2

, » @ %24[U2 (Le chatelier) M2



ool UR W (MA([G2] (Blaine's Air Permeability)

4w Sl 2210 Uil

Question Number : 96 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In the context of composition of cement clinker, what is the formula of tricalcium silicate?

Options :

1 % 3(7&0.1@1203
> 3Ca0. SiD;

o % 2Ca0. Si0;

4 % 4Ca0. AlgO‘g. F6203

Question Number : 96 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

(A2 (selo20tl A1ogeoll Ae®l, 23 (dl3e (tricalcium silicate)] A 9 87
Options:

.« 3Ca0.Al03

, » 3Ca0. Si0,



. » 2Ca0. SiO,

4. % 4Ca0. A|203. F6203

Question Number : 97 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Based on geological formation, rocks are classified into which of the following?

Options:

1. % Stratified rocks
> w Argillaceous rocks

3  lgneous rocks

4. % Foliated rocks

Question Number : 97 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

il Wetlsdl WL, WSSl of[ A we el suMl adlsd s2alml Wil 87

Options:

- ul[e9¢ (Stratified ) WSS

1. %

5> % Higlglal (Argillaceous) WSSl



M@L{;d (Igneous) V1SSl
3.

4 x UAYIH (Foliated) WSSl

Question Number : 98 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Sedimentary rocks are also known as

Options :
1.« stratified rocks
2. % unstratified rocks

3. % foliated rocks

4. % calcareous rocks

Question Number : 98 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

%N5d (Sedimentary) WSSle d3ls ulawdH] w1d 8.

Options :

, o B¢ ussl

5w [9¢l0 wss]



3 % UAudy wss)

4w YetlYsd Wss|

Question Number : 99 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

are radial splits or cracks wide at circumference and diminishing towards the centre of the tree.

Options :

1.+ Star shake

> % Cup shake

3. % Heart shake

4. % Knots

Question Number : 99 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
0 (o (qul wual (dAS) § % gl uRe U2 uslorl 14 S ua Befl heg, s ¥ctl 1SS 41 B,

Options :

1« telrdSs (Star shake)

5 % S4.dS55 (Cup shake)



5 = Gl dSS (Heart shake)

4w °l8l (Knots)

Question Number : 100 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following aggregate is classified on the basis of size?
I. All-in aggregate
IL. Fine aggregate

ITI. Rounded aggregate
Options :

1 « OnlyIandII
5 % Only ITand III

3 % OnlyIandIII

g4 % LII and III

Question Number : 100 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



o[ W Ue Hie] $8 Ul el Seol VIR QO[5 S w19 B2
. vI1g-65+1 sU]
1. w12]s suil

11, JNo1Ls12 suRd]
Options :

| v S5

5 % S5l = I

3 % S5 s

4 e 1 1

Question Number : 101 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0
In the context of simple bending, which of the following is correct equation of section modulus? (where, = moment of

inertia of a section about the neutral axis, Yy, = distance of the outermost layer from the neutral axis, Z= section

modulus)
Options :
I
Z —_—
¥ max

1.4

Z = I. imax
2, ® Y

Z =1 y’max



. Z=T. ymax

Question Number : 101 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Ul ot (R (Sonett e, of [ w0 ie]l 54 24159 1ised] 2d(section modulus)e 4 -l
97 (L, 1 = el wietell 520 uI5Be] YUY, vy = lell SRetl reRell lone et yelle] 2ick, 22

258 Ql1s)

Options :
1
Z —_—
¥ max
1.¢
L= L Vmax
2. %

=T 2
. Z = I. y*max

. Z=1I ymax

Question Number : 102 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which type of beam is shown in given figure?

AR ARARARRAS,

Options :

1.



+ Cantilever beam

> % Simply supported beam

3. ® Continuous beam

4. % Fixed beam

Question Number : 102 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

wUd] 15[AHT sl USRHL SR (uilH) Wdigami wicd] 87

AR,

Options :

1. ¢ uls 1% 2544 53U (Cantilever) vilu

5 % AlERRI 2SN o]y
5 % Add oflu

4w Slsd 534 uily

Question Number : 103 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Which type of load is shown in given figure?

HERERRRRRRNRRRNEN
i .

Options :

1. % Concentrated load

5>  Uniformly distributed load

3 % Uniformly varying load

4 % Couple

Question Number : 103 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

W (U] wIS[AHT 521 USReAL HIR (load) WdlddIM vl 87

IR IRRRRRNRENNE
i >

Options :

x Sltd @R

5« UsHHIARlA ddu1dd MR

5 % UsHUIARlA wEd uSdl MR



4 % HUIYIH (Couple)

Question Number : 104 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Abeam 4m long, simply supported at its ends, is carrying a point load of 40 kN at ifs center. The moment of intertia of

the beam s 72 * 10° mm* and ‘E’ for material of beam is 2.1  10° N.-"'nlmj, then what will be the deflection at the

center of the beam?

Options :
1.+ 3.53 mm
2. % 7.67 mm

3. % 8.95 mm

4. % 3.67 mm

Question Number : 104 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

4m o] 4o ulet] B3] U121 2 2594 GlH, Betl Jog, U2 40 kN @R Aot 52 B, el ySeatyel 72 x
106 mim 8 il 6lef] M2l MI2ell € 2 2.1 x 105 Nimm? B, cll oMot 3o, U2 (At g s

Options :
1.+« 3.53 mm

> % .67 mm

3 % 8.98 mm



4. % 9.67 mm

Question Number : 105 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

If the bending moment for any section at distance X is 3%-x, then what will be the equation of shear force?

Options :

1. % 3-5x
2.« 3—-2X
3. 0% 3T2x
4. % 3—X

Question Number : 105 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

oA 5165 UL [AG11=A1 Al x UR AHA4 8] 3x-x2 E1Y, ] sclet wjore] 15291 9 €272

Options :
1. ® 3 — bx
2. W 3—2x

3 % 3+2x



4. ® 3—-x

Question Number : 106 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

How many ‘point of contraflexure’ are there in the figure given below?

Bending moment diagram
Options :

-

Question Number : 106 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



o[ wUd] w1s[dHl 324l ‘point of contraflexure’ (UldetHst [0ig) 872

Bending moment diagram

266l - AHe1gR] wis(d

Options :

1.¢ 2

Question Number : 107 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
What is the ST unit of stress?

Options :
_—
1.+ N/m~

2. % N/m

3. % N.m



4. % N/m’

Question Number : 107 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

ylduio (stress)eil SI WsH 9] 8?2
Options :

1« N/im?

2 % N/m

3, ¥ N.m

4 % N/m?3

Question Number : 108 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

If P and Q two forces are perpendicular to each other, then what will be resultant force R?

Options :

R=P?+Q?
1. %

R= P’ +Q’
2.

R=P+Q



e
I
Q|+

Question Number : 108 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

%l P uial Q &) o] W sedlometl duis 1Y, dl R of WRRIHLS wiol B2g €917

Options:
R=P?+Q?
1. %
R= P +Q’
2. ¢
- R=P+Q
P
R=—
Q
4. ®

Question Number : 109 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

The maximum inclination of the plane at which a body can remain in equilibrium over the plane entirely by the
assistance of friction is called the

Options :

1 = Angle of friction

> w Angle of tangent



3 « Angle of repose

4. % Angle of limiting equilibrium

Question Number : 109 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

UM ciGef] st et 5191 ol Yy eael] Hesell ugle] anad gl gadl Ak B sdami
14 9.

Options:

L TR

5 % WS slQl

5 v ([ARIuslel

4 Halled AHgEl-dl slal

Question Number : 110 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Abody weighing 130 N is at rest on a horizontal plane. If a horizontal force of 100 N will just cause it to slide, then

what will be the coefficient of friction?

Options:

1. % 0.72



5 % 0.69

3 ¢ 0.77

4 % 0.68

Question Number : 110 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

130 N of| Ug el 24151 Hcid U 2R Reicllui ubdl 8. 100 N of Aldor er 2 42519, dl eNQl] 915 bed
&9l?
Options :

| % 0.72

5 % 0.69

3 v 0.77

4 % 0.68

Question Number : 111 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Friction can be classified into which of the following?
I. Friction during motion

IL. Friction in limiting equilibrium
Options :

1.



w OnlyI

> % OnlylIl

3.« BothIandII

4. % Neither I nor I

Question Number : 111 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

el of|2) US| ouHi adilsd s2ami w1d 87

0 e[ le ey

11 HAlled HHdale] gyel
Options :

% G5l

5 % S5

3 v [ ula 1] o

4 % odllelll

Question Number : 112 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



What will be the co-ordinates of centroid of given isosceles triangle?

Question Number : 112 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

[0 Y[ (ASI3letl Healbegedl YIH] 324l S21?

Options :



N
i
Y
W o
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p——
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Question Number : 113 Is Question Mandatory : No Calculator : None Response Time :

Think Time : N.A Minimum Instruction Time : 0

In the context of lifting machine, what will the correct expression for velocity ratio of the machine?

Options :
Velocity ratio — Distance moved by effort
— Distance moved by load
Velocity ratio = Distance moved by load
> % Distance moved by effort

3 % Velocity ratio = Distance moved by load + Distance moved by effort

4 % Velocity ratio = Distance moved by load > Distance moved by effort

N.A



Question Number : 113 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
dlg21oL Hailstetl AeeiHl, Hallstedl A2letL ARt HIRo{] Wil w(eieu(sd 56 912

Options :

1 v PLIARIHR= YAl GRISUE AdR / MR GRISIUE v d?

5 WLIARIHR= MR GRL SN BdR / Wt gRISMUE AR

5 WLIARITHR= MR GRLSNE WdR + Wl gRISIUE MR

4w DLARITR= MR GRS vdR x Wit gRISIUE vdR

Question Number : 114 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

A machine is said to be reversible when the

Options :

1 = load gets highered on the removal of the effort

5 % load gets highered on the application of the effort

3« load gets lowered on the removal of the effort

4 w load gets lowered on the application of the effort

Question Number : 114 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time: 0
He(ledal LR Jladluid séaimi w1 8 2R

Options:
1% Uil €24l UR | G Y B
5« Wil @o1laq] UR §IR GA nY 8

53 v Wil €24l U MR «{A U B

4 % Ydcell @o1dd] U2 @2 of | oy 8

Question Number : 115 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The load carrying capacity of a member, when it is subjected to axial load only, is given by . (where, P,, = load

catrying capacity of the member, P, . = ultimate strength of concrete, P, = ultimate strength of steel)

Options:
P

1. %

2 W Pll Plll: + Plls
P

TR,
3. %
Py = Pyc — Pus



Question Number : 115 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

30uef] G412 e gHell, I A St el R el seaHl wid B, A AR1MAM (A 8.
(L, P, = 4®lsll MR el Bl P = Slesletl Al wen, P, = 22lde] 2idlH way

Options:
P
1. %
Pll P'Ill: + P'I.ls
2.9
P
P, = P:
3. %
Py = Pyc — Pus
4. ®

Question Number : 116 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

As per IS456:2000, what is the minimum eccentricity (e,y;, ) for the design of columns? (where, / = unsupported length

of the column in the direction under consideration, D = lateral dimension of the column in the direction under

consideration)
Options:

I D
1 % 400 20



Question Number : 116 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
19456:2000 {2, &l (519H )l SlopleSe il dgeiH Boc22i(dt (o) 5l B2 (AL 1= (a8l S50l
(6211M] 5leuef] 21812 @ORef] ded1S, D = (TR E60tefl (Gl Slamell uifR ulmig)

Options:

Question Number : 117 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Which of the following is type of column?
I. Composite column

II. Column with longitudinal steel and spirals steel
Options :

1 % OnlylI

> % OnlyII

3.+ BothIandII

4. % Neither I nor I

Question Number : 117 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

o |4 w e el A aitel (SlaH)dl UslR 87
. HAuleld ejwd]

1. uefd oy vl HUlsIR 219 qLull 2ied)
Options :

1w o5l

5w S5l

3 v | Ul ] 6l

4 % odllell



Question Number : 118 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

As per 15456:2000, spacing of longitudinal bars measured along the periphery of the column shall not exceed :

Options :

1. % 200 mm

2.« 300 mm

3. % 400 mm

4. % 350 mm

P

Question Number : 118 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

1S456:2000 12, S1AHetl UREL U2 MIua M 19cl] wefded ollajef] o0l ol ] of e,
Options:

1. % 200 mm

2« 300 mm

3. % 400 mm

4 % 350 mm



Question Number : 119 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In the limit state method, the design stress for steel reinforcement is
Options :

1 % 0.67 Q

Question Number : 119 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
dlile e ue(dui, 22ld ey Hi2 2(HsAUA Yldwds 8.
Options :

.« 067,

5 @ 0.87 f

L« 069,

, % 0751,



Question Number : 120 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The maximum strain in the tension reinforcement in the section at failure shall not be less than

Options :

f,

Y — +0.003
.« LISE,

f,

* +0.002
, « L5E,

f,

Y +0.001
.« LISE,

f,

~__+0.002
, » LI5E,

Question Number : 120 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

(550111 U2et ASRIAH] 1l YGetH] HeetH [5(d (strain) sl w16l o eld] e,

Options :
f,
Y — +0.003
.« LISE,
f,
* +0.002
1.5E



f,
¥ 10.001
.« LISE,

f,
— 4+0.002
, v LISE,

Question Number : 121 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
x

u{max)

As per IS 456:2000, what is the value of d  fo F. 500 steel?

Options :

1 ¢ 046

Question Number : 121 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
X

u{max)

IS 456:2000 AU, F 500 @ld Hz 4 o yeu ¥eq Slu 87

Options :

| v 046



5 % 0.48

3 % 053

4 % 0.56

Question Number : 122 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
The nominal shear stress Ty 1n beam of uniform depth is determined from which of the following expression? (where,

V,, = shear force due to design load, b = width of beam, d = effective depth)

Options :
V,
Ty =—5
1. % bd-
v,
T, =—
R4 bd
3. # .L-"t' — ‘Ju .bd
bd
Ty = —
4. % Ve

Question Number : 122 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Atl12] GLLeSetl ASM et el Wl 2, & of[A w2 miel] 6 ule1cufsd gRI 55| s2aH] w18 §2
(1, Vi, = (6584 HL2etl €8] 5clet e, b = A5l ulens, o = el Gsle)

Options:
-"'Tu
Ty =——
1. % bd~
VLI
T, =—
5 o bd
5« Ty=V,-bd
bd
Ty = —
4, % \&

Question Number : 123 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following is type of contracts in construction management?
I. Lump-sum contract
IL. Unit price contract

III. Cost plus bid fee contract
Options :
1 % OnlyIandII

5 % OnlyIand III

3 % Only ITand III



4w L 1landIII

Question Number : 123 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

o s Woddef ] ol wWRdmiel sl A sliseddl UskR 82
. Gus 3 GleS] 25H-AL (Lump-sum) Sle2152
1. WsH £l6 (SUd sl2152

11 w2l adl efldl (oils) sl sl21se

Options:

| w S5 ueL

R ARZER

3 % S5 e Il

4w LT

Question Number : 124 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

is based on estimate quantities of the items involved in the work.
Options :

1« Unit price contract



2 % Guaranteed maximum contract

3 % Tum-key contract

4 % Competitive contract

Question Number : 124 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
A S1IHT ARG drgudldl 261 el wIHR isaMl 11g 8.

Options :

| o WsH Els [5Ud slzlse
, w GIEHRA HedH sl2152

o x 2ol-sl Sle2lse

4w tdleds sl2lse

Question Number : 125 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following is method of scheduling?
I. Gantt charts
II. Network analysis

III. Milestone charts



Options :

1 % OnlyIandII

5 % Only IT'and III

3 % OnlyIandIII

4 v L 1andIII

Question Number : 125 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

oA wUe el 56 staly [ ued(d 87
. dle2 Ale
1. uRue yee 5213l

1. ULSeR)el UL
Options :

| w S5 B

R AREER

3 % S5 Bl

4w L TSt



Question Number : 126 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In the context of network techniques, an event which marks the beginning of an activity is called a
Options :
1.« tail event

2. % head event

3. % dual role event

4 % mergeevent

Question Number : 126 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

URUY (A2a) dsells\ell deeul, yalcied] Qrutida Rilad Sl teetl (BA)et seau (A 8,
Options:

1 v e84 8§de2

5 % 65 8dee

5 % AUA UG 992

4 % H% ©de?

Question Number : 127 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0

In the context of network techniques, any portion of a project which consumes time or resource and has a definite

beginning and end is called as

Options :

1 & Aactivity
2. % event
3 % dummy

4w network logic

Question Number : 127 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

2205 cled 5ot 60T, Vsl 516Ul 1AL % MY ] A lHeted] UL 53 B e} Bed] A5 Qe
UA WA YU PR seaHiwd B,

Options:

\ » Yq[d (activity)

5> » Hesil (event)

5w S0 [lg (dummy)

4 » URUE d5 (network logic)



Question Number : 128 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following is function of material management department?
I. To develop coordination between various departments

II. To form research and development with respect to materials cell
Options :

1 % OnlylI

5 % OnlyII

3.« BothIandII

4. % Neither I nor I

Question Number : 128 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

o [ Aot 1H1] 53 H2Rud BRer [SUléHeze] 512 87
. [alay [Sulenez 9 HesiR [dsylad)

11 1] SN el dollded 214 (as1d e19l Yrd)
Options :

% b5l

5w S5

3 v [ ula 1] o



4 % adllell

Question Number : 129 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following is NOT an objective of materials management?
L. Speedy disposal of material which are no more required
IT. Losses due to pilferage, deterioration, obsolescence are to the kept at a maximum

III. To ensure uninterrupted production

Options :

1 = Onlyl

5  OnlylIl

3 % Only IIand III

4 % LIlandIII

Question Number : 129 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

o[ wUeuie]] sAl Hle[Rud HaHezell &g «ieil?
. W10 %22 o[ US W Y(2RUd-A] »sul [Asld
1. A13L, GLLS, «ASIHL 2Adet] S129) g o SA et HetH Awa M w1ag

11, AS14L AL Sl Wid?] s2d]
Options :



1 = o5l

5 » S5
R AREER
4 e L1

Question Number : 130 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

What is recommended size of external door (in mm) for residential building?

Options :

1.+ 1000 = 2000

2 ® 2250 = 2250

3 % 1200 % 2100

4 % 800 % 2000

Question Number : 130 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

281ILS SHRCAL HI2 WAL L2 (%1eA] GeHElL 539 URMISL (mm Hi) 3eq ©?

Options :

1.+ 1000 x 2000



2. % 2250 x 2250

3 % 1200 x 2100

4. % 800 x 2000

Question Number : 131 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following is type of door?
I. Sash doors

IL. Fly proof doors
Options :

1 = Onlyl

> % OnlylIl

3.+« BothIandII

4. % Neither I nor IT

Question Number : 131 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



A1 wQeuef] U] YRRl USR 872
. A2l SR
Il &414 Y SIR

Options :
1% 51
2 % S5 ll

3 v | Ul ] ol

4 % adllell

Question Number : 132 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

In the glass pane or the glazed shutter is permanently fixed in the opening in the wall.
Options :

1 % Double hung window

2 % Pivoted window

3. % Casement window

4. + Fixed window

Question Number : 132 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time ;: N.A Minimum Instruction Time: 0
I SIRUeA] dscl we1a] 985 2122 [ealdul sIH HIR (554 S2aMi 11 9.

Options:
1 % Suid &9 [ges)
5« Udles [qss)

5« 5Uie? [deS)

4 v (555 (<5

Question Number : 133 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following is type of shoring?
I. Raking shores

II. Dead shores
Options :

1 % Only I
> % OnlyIl
3.« BothIandII

4. % Neither I nor IT



Question Number : 133 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

o |4 w[Uguiell 2l s1520i (shoring)-ll USIR 8?2
LIS
1. 55 2l

Options :

1 = o5l

5w S5l

3 v [ ula 1] o

4 % odllell

Question Number : 134 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following statement is correct regarding scaffolding?
L. Scaffolding is a permanent rigid structure having platform raised up as the building increase in height.

II. Needle scaffolding is a type of scaffolding.
Options:
1 % Onlyl

5  OnlyIl

3. % BothIandII



4. % Neither I nor IT

Question Number : 134 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

16 o] of [ 2 miel] 52 (qule 4R) B2

G 23 (G165 U2 eic ] il ALl SRAM] 24 (S AR0el1 B % MLl Gl B QM G iy
3,

I {154 35112 (Needle scaffolding) % lduiell 5 UsR B,

Options:

% B5dl

5 » S5

3 % | Wal ] Ole
4 % odllell

Question Number : 135 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

is a brick whose one end is cut splayed for the full width.

Options :

1. % Queen closer

2 % Bevelled closer



3.« Mitred closer

4. % King closer

Question Number : 135 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
uld] s 82 B Bell ws B U Y3l uslonle Hiz Al siidl ely 8.

Options :
1w Sl bl

5w uildes sl

L o [H2S sl

4 % (591 41

Question Number : 136 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which type of closer is shown in the given figure?

Options :

1.+ Bevelled closer



2 % Mitred closer

3 % King closer

4 % Queen closer

Question Number : 136 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

U] w1s[AHT 5L USRHL sdln stlad il vl §2?

Options :

1w uildes sql»

, w (H2S slm

5 % (59 54l

4w Slet sl

Question Number : 137 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Which of the following statement is correct regarding English bond?
L. This bond consists of alternate course of headers and stretches.

I1. In this arrangement, vertical joint in the header courses come over each other and the vertical joints in the stretcher

courses are also in the same line.

Options :

1 % Onlyl

> % OnlyIl

3.+« BothIandII

4. % Neither I nor I

Question Number : 137 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

D2l §odlel 6lles (idoy ofeiodd] o1 wlamiell 53 [qul 4R 87
| ] 6loSH ] 852 uia) 22all4etl A5(6us eRefl M1 Ut B,

1 41 2 6QH, 852 &Ml Glefl Aiell W sedlonel] Guz 2413 § w4 222 el Gledl 1yl s 9 Sl
elu 8.

Options :

1 % o5l

5w S5

3w 1 Wl



4 % adllell

Question Number : 138 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In open channel. the flow is said to be critical, if Froude number is
Options :

1 % greater than |

5  equaltol

3. % lessthan I

4 % equalto zero

Question Number : 138 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
] (22 atlesiil, udlea sild (critical) s&aHi 414 9, % §165 wis Sl

Options :
1 % 15dladlR

5 « 1ell UHlet

3 % 15l w18l

4w U UM



Question Number : 139 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

For a rectangular open channel, hydraulic mean depth is b metre, and bed slope is | in S, what will be velocity of flow

through a rectangular channel, take chezy constant (C) = 557

Options:

SSJE m/s
1. ¥S

55\/§7mfs
2. % b

3 % 55¢bSm/s

4 % 55bS* m /s

Question Number : 139 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

i wed] afest Hie, ¥eRRld (hydraulic) M2 1SS b HleR B, uia ¥R 11 (bed slope) S M1 1 8,
o2 allssiel valesd] 421 edl 62, Al wals (C) = 55 417

Options :

55\/E m/s
1.v VS

55\/5111;'5
2. ® b



3 % 354/bSm/s

4 % 55¢bS* m /s

Question Number : 140 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

For most economical rectangular channel, hydraulic mean depth should be
Options :

1 % WO time of depth of flow
5> % equal to depth of flow
4 half of depth of flow

4 w three times of depth of flow

Question Number : 140 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Hlel] 5250250 ] dogdl2 (st IR, ¥Rl (hydraulic) HR1R GlSIE eld] Al

Options :

1w dlé&sil Gsigedl & a1 il

5« Udleeil GSISeAl Ul



3« ydlesil GsI6ei] wsHl

4 % ydlesil GSI6sl AgpILil

Question Number : 141 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

For liquids the unit of discharge is

Options :
7,
1. % m</s

2.9 m?/s

3. % m*/s

4. % ms

Question Number : 141 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
ydlel Hieell udle (discharge) 154 2
Options:

1. % m?/s
2 m3/s

3 % m¥/s



4. % m/s

Question Number : 142 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following is correct expression for co-efficient of velocity (Cy). In the context of hydraulic co-efficient?

(where, V=actual velocity, H = height of head)

Options :
%
Cy = -
1 ¢ 2¢H
%
Cy, = 5
5 % 2gH
.« Cy=428HxV
2¢H
C, =X=C
4 % A

Question Number : 142 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
YR [Uct (hydrauiic) 5ot Mg T, et 915 (Cy) M2 o112 b iell 53 Hrll @ (s 87 (oL, v
= Afeidls Q| H = 8ell GUI6)

Options :




Cy =

> ® 2¢H

3 % C, =+28HxV
C - 2¢H

4 % v Vv

Question Number : 143 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In context of major energy losses, which of the following is correct equation of darcy-weisbach formula? (where, he=

loss of head due to friction, = co-efficient of friction, L = length of pipe, V= mean velocity of flow, d = diameter of

pipe)

Options :
4.f-L-V
hy=——7—
1. % d-2g
4.7V
e =
2. % d-2g
hf:4-f-L-‘v
3 @ d-2g
27.0.1..V°
h, =2 g-L-V

4. % f-d



Question Number : 143 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
2t G et el o112 el 53 Sl-Aexels (darcy-weisbach) ole M Hl 28l 7 (o, he=
Nt 5129 &5 &, 1= ENQlef] 2lS, L= U euet] dedle], v = ekl At 1], o = uigiuell cup)

Options :
4.f.L-V
ST
1. % r~g
_4.f.17.V
=
2. ® d'zg
4-f-L-V
h, = B
3.¢ <8
7.0.1 .V
h, =2 gde‘v
4., % :

Question Number : 144 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The pressure rise in pipe due to water hammer depends upon, which of the following?
L. The velocity of flow of water in pipe
II. Diameter of pipe

III. Length of pipe
Options :

1 % OnlyIandII



5 % Only IT'and III

3  OnlyIand III

4 % LII and III

Question Number : 144 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

%01 S|H (water hammer)ell $128) A¢lH] aidl] gl o{[ WA Mel] 41 U2 WIHR AW B2
. {014} w19l yated] 4o
I, oollsf] U1y

11, stofled] dates
Options :

L IRZEN

R AREER

3 v S5 1B

AR E

Question Number : 145 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Which of the following is part of centrifugal pump?
I. Casing
IL. Impeller

ITI. Delivery pipe
Options :

1 % OnlyIandII

> % Only Il and III

3 % OnlyIand III

4 v LIland III

Question Number : 145 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

of |2 UG M| U] wWuHer] Uil ¢12] 7
. 52§91 (Casing)
1. URLLES (Impeller)

11 Slelazl ulehu (Delivery pipe)
Options :
| x S5

R AREER

3 % S5 s



4w LT

Question Number : 146 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following is type of lift irrigation?
I. Perennial irrigation

IL. Flood irrigation
Options:
1 % Onlyl

> % OnlyIl

3. % BothIandII

4. + Neither I nor I

Question Number : 146 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

o[ w[Ud ] sA) Gease (lift) [RIULSeAl UsI2 87
. oleaN[y (UL (Perennial irrigation)

1. wE|ded] (UL (Flood irrigation)

Options :

1 % o5l



5 % S5
3 % | Wal || tde

4« ldllell

Question Number : 147 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following is NOT a type of surface irrigation method?
Options :

1« Sprinkler irrigation
> % Contour farming irrigation

3. #% Furrow method

4. % Flooding method

Question Number : 147 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
of |1 w0 Hiel] 241 Yy (UL (surface irrigation) Uer [dell US12 etil?

Options:

1« AUs-[AULS (sprinkler irrigation)

5 % HHRA 2 [ULE (Contour farming irrigation)



5w UL (furrow) Uegd

4 % WAL (flooding) Yeg[d

Question Number : 148 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
In the context of gravity dam, According to IS 1893:2002 (Part 1), the design horizontal seismic coefficient (Ay) shall

be determined by which of the following expression? (where I = Importance factor, Z = Zone factor, R = Response

reduction factor, S_a _ average response acceleration coefficient for rock or soil sites)
g
Options :
Z I S
A=,
1. ® g
Z I S
TR
2. g
Z R S,
Ay =37
3. % g
Z R g
=T
4. % a

Question Number : 148 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



I21(id Gl (gravity dam) e¢TH, 1S 1893:2002 (1L 1) MR, URseUet B[ &{5u-218115 (A oAl
(g (el] sl 4 gl oss] SRamiwd §7 (@l | = SHlosd k522, Z = Plet 522, R = Rl 552l

3528, 5, _wss e uig o) MR A9 eyl A9l
g

Options :
Z 1 S
Ay =77
1. % 3 g
Z 1 S
TR
2. g
Z R S,
Ap=37"7
3. % 2 g
Z R
AT
4. % a

Question Number : 149 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In which of the following cross drainage work, the canal water and drain water are allowed to intermingle with each

other?

Options :

1 = Syphon

5 % Super-passage

3« Level crossing

4 % Aqueduct



Question Number : 149 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

of et Hi8]] 51 oAl ] ANiAA] Gle$IH) (cross drainage works)H] 101l IRl 48] £luid &gl
tHI A &2

Options :

| = ISl (Syphon)

> % YU-UA% (Super-passage)

3 ¥ dqq sl (Level crossing)

4 % WU (Aqueduct)

Question Number : 150 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

If duty of crop is N hectares/cumec on the field, the base period of this crop is M days, then what will be the delta for a

crop in cm?

Options :

g64dM
1.+ N

g8-64M

0-864M




8640M

Question Number : 150 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

o) 35 M1 Ulsel] 546 N hectaresicumec €14, Ulsell 4o yHuL0L M (9 8, dl Ul HI2ell 3621 cm Ml

bed| &dl?

Options:

864M
1.+ N

8-64M

0-864M

8640M

Question Number : 151 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

In the context of measurement of rainfall, non-automatic rain-gauge is also known as
Options :

1« Dhon-recording rain-gauge

5> % tipping packed rain-gauge



3 » float type rain-gauge

4 % Weighing bucket rain-gauge

Question Number : 151 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Q16 UIudletl Aeeul (We-2adulad aule-oe A3yl alonwau] w(d 8.

Options :

1 v ellel-3515[21 36549\

5 % 2ol Uss Ieet-l%

5 % e 2l8u 28e1-dl%

4 % QB wi¥e IS4

Question Number : 152 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Runoff can be classified in which of the following?
I. Surface runoff

II. Base flow runoff

Options :
1 = Onlyl

> % OnlylIl



3.« BothIandII

4. % Neither I nor IT

Question Number : 152 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

dlelo (Runoff)el <112 w10au el 211l adflsd s2ami 2414 92
| ¢UH qlEleyn (Surface runoff)

1. w112 Ydle dlelesa (Base flow runoff)

Options:

1 % S5

5 % S5

3 v | Ul ] ol
4 % cdllell

Question Number : 153 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Which type of rain-gauge is shown in the given figure?

Options :

1« Weighing bucket type rain-gauge

> % Float type rain-gauge

3 % Tipping bucket rain-gauge

4 % Non-recording rain-gauge

Question Number : 153 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



uud] w1s[Aul sULUSRAAL dNHIUS aldldqm] vl 87

Options :

1 v dR-Aulldd anHus
5 % dcl USRel an[HIus

5 2us-Usglddlo anuius

4 Gt (¢@ud (non-recording) ANIMIUS

Question Number : 154 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following statement is correct regarding safe bearing capacity?

[ The maximum pressure at which the soil can carry safely without risk of shear failure is called the safe bearing

capacity.
I1. Safe bearing capacity is equal to the net safe bearing capacity plus original overburden pressure.

Options :



> % OnlyII

3.+« BothIandII

4. % Neither I nor I

Question Number : 154 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

¥4 [Hd 41981 &Hcl bearing capacity) (a9 o[ (Ugmiel] 54 [aui 41 &7

. Sclo [o1d501dl (shear failure) o F1uH G9R Hlel %2 HeriH 19 ase 52| 20k B ula HaMd Al el
sequiud 9.

1 Mt 2100 et %) Mt ]l et el Hal U[HH LR A9kt HHIA

Options :

% G5l

5 % S5l

3 v [l 1] o
4 % odllsll

Question Number : 155 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

What is recommended value of K, for dense sand, where K, = coefficient of earth pressure at rest?

Options :



>
©
o
L]

Question Number : 155 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
el 3l HI2 K, o MeHRL 539 Yot Bed ©, ol K, = 21 (e (RellcHi yedldl elodefl Alls?

Options :

1. % 04

2 « 0.6

3 % 0.8

4 % 0.5

Question Number : 156 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

In the context of standard proctor test, the test equipment consist of cylindrical metal mould, having an infernal diameter

of  andinfernal effective heightof .

Options:

1.



w 10.15cm; 11.7 cm

> % 1L.7cm; 10.15 cm

3 % 9.6cm: 10.35cm

4 % 10.35cm; 9.6 cm

Question Number : 156 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Mlo4s Uil s22 Ul el AeeiH] uzlel diHelul st tled]2 ol 2m1dsl &L §, e widRs
2 uict?ls yeud] Guig K]

Options:

1« 10.15cm; 11.7 cm

> % 11.7cm; 10.15 cm

3 % 9.6cm; 10.35 cm

4 % 10.35cm; 9.6 cm

Question Number : 157 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following is unit of coefficient of permeability?
Options:

1.



& ch/sec

2 ® cm/sec?

3. % cm’/sec

4. ® Clll‘l-"SEC

Question Number : 157 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

o |4 v e el A URRAdL (permeability) RLLS<1l V15H 87
Options :

1.« cmisec

2 cm/sec?

3 % cmA/sec

4. % cmé/sec

Question Number : 158 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Which of the following factor is affecting the permeability of soil?
I. Properties of the pore fluid
II. Grain size of soil particle

ITI. Structural arrangement of the soil particles
Options :
1 % OnlyIandII

> % Only Il and III

3 % OnlyIand III

4 v LIland III

Question Number : 158 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

o2 w Qo] 53 uReio HI2l-{] AUdl (permeability) < WH2 53 8?7
. [£9¢ valeledl ol
1. HL2letl 5814 52

1. ULeledl Q0] Hinwisly cgze)

Options :
| w S5
5 % S5cLII et 1]

3 % S5l vl



4w LT

Question Number : 159 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The ratio of the volume of voids to the volume of soil solids is given by
Options:

1.« Voids ratio

> % Porosity

3 % Degree of saturation

4w Relative compaction

Question Number : 159 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
14131 (Voids)etl YHIGLTl 568 HIZletl YH1gl adle]l ARl GRIMUAM[ A(A] B,

Options :

1.4 U111 IRLIxiR (Voids ratio)

5 (8¢l (Porosity)

3. % #i[H 2415 (Degree of saturation)



4w WIUE €131528 (Relative compaction)

Question Number : 160 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
Which of the following expression is showing correct relation between e, G, w and S? (where, e = Void ratio, G =

Specific gravity, w=Water content, S = Degree of saturation)

Options :
wir
e = —
1.4 S
G
e = —
2. % LA
G-S
e =—
3. % W

Question Number : 160 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

oA H 2] 541 Aol e, G, w e S GRlef] A1) Hodd egllaami el §7 (], e = l4Ig AQlR, G =
[afore o, w=y0 ts, S = Al i)

Options :
wir
e = —
1.4 S
G
e = —



&
L

%
.
|

Question Number : 161 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Shear strength can be determined by which of the following laboratory method?
I. Direct Shear test
II. Unconfined compression test

III. Vane shear test

Options :

1 % OnlyIandII

5 % Only IT'and III

3 % OnlyIandIII

4 v L 1andIII

Question Number : 161 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



o1 wRamiel] 56 duil3ed] ue(d Hisd WumUBl(shear)-HMLA [HullRd 53] 2l 87
. Al Ul U3letRl (Direct Shear test)
I. Mﬁm; glog ulagl (Unconfined compression test)

[[REERITEIERIREIE] (Vane shear test)

Options:

| w S5V

5 % S5 vdat Il

3 % S5cL1ueL Il

4w L st

Question Number : 162 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following is NOT a principle of surveying?
I. Working from whole to part.

IT. Location of a point by measurement from two points of reference.

Options:

1 = Onlyl

> % OnlylIl

3 % BothIandII



4. + Neither I nor I

Question Number : 162 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

o1 w0 el sl udetsl-il Riedid etell?
. AxAu el @D d2§ (whole to part) SIH 524,

1. 6} el (oigullef] Hua 53 (olge] 2211t vilsd 524,
Options :

| w 551

, % &SI

3 % 1 Wl

4 v ddllall

Question Number : 163 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

A is one on which it is possible to measure two dimensions only.
Options :

1.+ Plain scale

> % Diagonal scale

3. % Scale of chords



4. % Steel rule scale

Question Number : 163 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
W WS vIg B Bell U2 HIA [ WRHIRL o HId] 2151y 8.

Options:
1 v \Hel 256
5 = SIUAUE ¢

5 = 51541 3¢

4 % 014 249 %

Question Number : 164 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following type of survey is used for determining different strata in the earth’s crust?
Options :
1 = Mine survey

> w Military survey

3  Geological survey



4 % Archaeological survey

Question Number : 164 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

yed]o | MuSIel [afay e3)e «ss] 5201 4E2 of Al 521 Ut udegell Gualal ey §?

Options :

R[S TS|
5 = 4953 ud

5 v Sl ud

4w Wedlaad

Question Number : 165 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

A engineer chain is long and consists of links.
Options :
1 % 100 ft; 16

5 100 ft.; 100

3 % 66 ft.: 66



4 % 66 ft: 100

Question Number : 165 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

U5 8%l Ais (engineer chain) ajod] €14 9 ua dls 1y 9.
Options :
. % 100ft; 16

, » 100 ft.; 100

5 % 661t;66

4 % 661t; 100

Question Number : 166 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following statement is correct regarding tie line?
I. A tie line is a line which joins Subsidiary stations on the main line.

II. The main object of running a tie line is to take the details of nearby object.
Options :
1 % Onlyl

> % OnlyII

3.« BothIandII



4. % Neither I nor I

Question Number : 166 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

216 @10 (tie line) ot Aol o1 WU Miell 54 (dulot 4R B?
| 216 @l 2 Ad] d1e5et § % 918l 2Uel (Subsidiary stations)a Hu dlds 118 %15 8.

I, 2165 @165t Uatad el Yud &q A 4% el g leuiel] HIfEd] dald) 8.

Options:

% B5dl

5 % S5

3 v |3l ] ol
4 % odllsll

Question Number : 167 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In surveyor’s compass, the graduations are in Q.B. system, having atNand S and atEand W.

Options :

| % 90°%0°

5 % 90°% 180°



3 v 0°:90°

4 % 0°180°

Question Number : 167 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

UQetl Elsl, dopuloiet OB Yl Sl B Ul uNwASWeEkd wd  WEUd
WU,

Options :

, x 90°%0°

> % 907 180°

5 v 0°%90°

4 % 0% 180°

Question Number : 168 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The temporary adjustment for a level consist of which of the following?
L. Setting up the level
II. Leveling up

ITI. Elimination of parallax
Options :

1 % OnlyIandII



> % Only Il and III

3 % OnlyIand III

4 v L1andIII

Question Number : 168 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

dqd Hle SaUH] Alearmi «1 Usl s34 yuldg ey 87
. ddds] Jl6dd <]
. @d€ 5 lsf

11, duiete] [Qlus
Options :

| w SSueL
R AREER

3 % S5 s

4w L TSt

Question Number : 169 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Which of the following is component of suspension bridge?
I. The cable
IL. Stiffening girder

ITI. Supporting towers
Options :

1 % OnlyIandII

> % Only Il and III

3 % OnlyIand III

4 v LIland III

Question Number : 169 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

o 1A WUGHe] sl WAL Gilowell €2s B?
. 509
1. 21524] £.2l521

11 HULE Sl 2laR
Options:

| w S5

5 % S5cLII et 1]

3 % S5l vl



4w LT

Question Number : 170 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following is NOT a super-structure component of bridge?

Options:
1. #® Deck
2 % Truss

3. % Girders

4.+ Abutments

Question Number : 170 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

A1 wQauef] 5] oflogetl Gled ULl des B2
Options:

| % 55 (Deck)

5 % %l (truss)

5 % OIS (Girders)



4 v VAR (abutment)

Question Number : 171 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following is correct regarding T-beam bridge?
I. The T-beam bridge is adopted when the span range of [0 mto 25 m

II. The bridge is named as T-bridge because the main longitudinal girders are designed as T-beam.

Options :

1 = Onlyl

> % OnlylIl

3.+ BothIandII

4. % Neither I nor II

Question Number : 171 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

of 2 ] 2 T-odl oy 2iodd wpR) B2
.10 m &l 25 m ofl (U & (span range) 1 & AR T-wilM oy wyet|daui wid §

1, L gt T -{oy ot 2] 412 B $19 S Hud vhefdln Al -0l b (Sopleet S2aMi 1d B,

Options :

1 = o5l



5w S5

3 v | Ul ] 6l

4 % odllelll

Question Number : 172 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

i5 a sub-structure component, which supports the end of a superstructure and retains part or whole of the bridge

approach fills.

Options:

1.« Abutment

2 % Afflux
3 % Bearing

4 % Cause way

Question Number : 172 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

L WAL o5 D, % Gled Hauetletl BSIA 251 B B i o4y YN (564 (bridge approach
fils)ofl 445 @191 421l Wy ] 2w 9,

Options:

| YAIHR (abutment)



, w uedle (Afflux)

5 (6211519l (Bearing)

4 S1»d (cause way)

Question Number : 173 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

A bridge, over another road for allowing traffic without interruption, is known as

Options :

1 « Flyover
2. % Culvert

3. % Invert

4 % Ramp

Question Number : 173 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

setcudsa SISl (A8 of elfd HIR ctlef] Bu drsell A5 yd eioliadiHi w414 § 2 GHE
Alwy 8.

Options :

| v S w|d?



5 % 54de

3 % Deld?

4 % W

Question Number : 174 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Which of the following material can be used as ballast?
I. Brick bats
II. Sand

III. Gravel
Options :

1 % OnlyIandII

5 % Only IT'and III

3 % Only Iand III

4 v L 1landIII

Question Number : 174 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



o{|3H (Ballast) d[3 «ilAuiel] s6 Al Gualol 4 2k 87

215

1. il

1. s3]
Options :

| w S5Vl
5 % S5 11 v Il
3 % S5 13
4w LT

Question Number : 175 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The minimum depth of sleeper without fastening should be for Broad gauge.

Options :

1.+ 150 mm

2. % 125 mm

3. % 120 mm

4. % 100 mm



Question Number : 175 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
o] HI2 Sl (fastening) [detl 26[UR (sleeper)-l @gu GlSLE eld] 16,

Options :
1.+ 150 mm
2 % 125 mm

3. % 120 mm

4 % 100 mm

Question Number : 176 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which type of rail are shown in the given figure?

Options :

1 = Single headed rail

2. % Double headed rail

3.« Bull headed rail



4. % Flat footed rail

Question Number : 176 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

(U WLS[AHL 581 USsReAL 39 tidlad] w1d] §7

Options:

1 % [do9 83539
> % SWE &55739
5 v WA ESS Y

4 x $2 §esd

Question Number : 177 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



In the context of rail fastenings, which type of spike is shown in the given figure?

Options :

1« Dog-spikes

> % Screw-spikes

3 % Round-spikes

4. % Elastic-spikes

Question Number : 177 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

39 54| (fastening)etl Aeelul, UG 15[dMl 521 USRe{] W1oS Wdldgm] 211d] 87

Options:

1 v Sl s

, x WU



3 % UGS WIS

4 % SCREs- WIHSU

Question Number : 178 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following statement is correct regarding transition curve?
L. A transition curve is a type of curve which is introduced between a straight and circular curve.

I1. A transition curve is also known as easement curve.

Options :

1 = Onlyl

> % OnlylIl

3.+ BothIandII

4. % Neither I nor II

Question Number : 178 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

UsHRL a6l AeelHl of| Aot Ml 3 [dHlst A1 B2
. AsHL ass W asell WS UsR 8 B ¥ldl wa adollsiR as a3 2% 2l 9.

. A5HEL A5 SrH2 (easement) A5 d% ULl wllonwa i wid 8.

Options :

1 = o5l



5w S5l

3 v [l 1] o

4 % odllell

Question Number : 179 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following is type of cement concrete pavements?
I. Plain concrete pavements

II. Reinforced concrete pavements

Options :

1 % OnlyI
> % OnlyIl

3.« BothIandII

4. % Neither I nor IT

Question Number : 179 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



A1 w e fe]] s2) (N2 sisle s2uuitl-Al uslz 82
. @ Slsle su0ifl

11 2915125 slsle suuidl
Options :

| % S5

5 x &I

3w Ul

4 % odllell

Question Number : 180 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

What is the recommended value of camber for water bound macadam road in low rain fall area?

Options :

1 1in40

2 % 1in 33

3 % 1in50

4 % 1in60

Question Number : 180 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0

u169| GRAleetl (GRelRH] 122 1G5 RSBSH (water bound macadam) 215 L2 2l01ef] HAHYl 539 4 3og
&

Options :

1 v 1in40

5> % 1in 33

3 % 1in50

4 % 1in60

Question Number : 181 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

As per IRC recommendation, what is the width of carriage way for single lane road?

Options:

1.+ 3.75m

N
#
Lh
L
—_
(=7
(=]

3 % 4.75m

4. % 7.0m

Question Number : 181 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



IRC ¥ 4l 539 Aef1R, (01 A 215 HI2 320 22 (carriage way )l uelans dedl sly &2

Options :
1.« 3.75m
2. % 5.5m

3 % 4.75m

4. ® 7.0m

Question Number : 182 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The height of mountable type kerb is about above the pavement edge with a slope or batter to enable vehicles to

climb the ketb at slow speed.
Options:

1.+ 100 mm

2. % 90 mm

3. # 80 mm

4, % 50 mm

Question Number : 182 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Bu2 4al 2154 al (mountable) Wstaell s2uleet] weeRell (512l (kerb)edl U6 s2odeled] (sell2lell @orero
 %%ed] (up vl gle1 e (234 @il 18l Sy B el diselld el o1l 5] w2 yald] sy,

Options :
1.+« 100 mm
> % 90 mm

3. % 80 mm

4. % 90 mm

Question Number : 183 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following is type of sight distance?
I. Stopping sight distance

IT. Passing sight distance
Options :

1 = Onlyl

5 % OnlyII

3.+ BothIandII

4. % Neither I nor II



Question Number : 183 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

o |4 wUeHief] 52l ¢94 idR (sight distance)ell USIR 8?7
. «l#dls] (Stopping) 24 id?

. UAR gl (Passing) £2Y id?

Options :

1 % S5

5 % S5

3 v | Ul ] 6l
4 % odllell

Question Number : 184 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

is manufactured by the intergrading of OPC clinker with 15 to 35 percent pozzolana or intermixing the portland

cement and fly ash or calcined clay.
Options:

1 % Portland slag cement

> % Highalumina cement

3. % Oil-well cement

4. + Portland Pozzolana cement



Question Number : 184 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

% OPC (5452 15 ] 35 251 Ulponldletl 219 icksetl el (intergrading) 21 a1 vl2dss
(o2 24 56112 Bl elclL Be165e5 HIZ] A1) (MaRL 52l Gl (et seatl 21 &),

Options :

1 % Uledes 242 [HHee

5w GO Y Mol [1Re2
5« ul99-d9 A

5 v 18S UlnaAleletl [HRee

Question Number : 185 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

What is the final setting time of OPC (ordinary Portland cement) as per IS code?
Options:

1. % 30 minute

2« 600 minute

3. % 400 minute

4. % 500 minute



Question Number : 185 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

1S SIS 4%ul OPC (UM Ul2des i)l Bed] s1231-1HY 2 Sld 87

Options :

1 % 304l-le

5>« 600 Hl{le

5 % 400 Hl{le

4 % 500 Hlsfle

Question Number : 186 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

is obtained by grinding ordinary portland cement clinker with water repellant film-forming substance as oleic

acid and stearic acid.

Options:

1 « Hydrophobic cement

5> % Super Sulphate cement

3. % Low heat cement

4. % Sulphate resisting cement



Question Number : 186 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

O W IR 08 (R (552 ol (A5 RS wa 2 s v S Fat wigl] uu s uS Gt g
Uetel 419 Yl AadaHi wid 8.

Options :

| o S1831810dls iR
5w YU UG (AR

5« dlele [[ie

4w U2 WD A=

Question Number : 187 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
For concreting purpose, the pH value of water shall not be less than

Options :

1. %8 2



Question Number : 187 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time: 0
slesl2 81281 52d 141 & Hle, ulslle] pH Y& of| o1 o €lq e,

Options :

Question Number : 188 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following factors affecting the workability of concrete?
I. Water content
II. Use of admixtures

ITI. Size of Aggregates
Options:

1 % OnlyIandII

> % Only Il and III

3 % OnlyIand III



4w L 1landIII

Question Number : 188 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

AR WG] 52l d25] Sleslel s U w2 53 8?
| uLell-d) eles
11 A (1Rl Gulal

I[RENEHERVEIE]
Options :

| w S5

5 % S5l = I

53 % S5 sl

4w LI

Question Number : 189 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In the context of slump test apparatus, match the following parameter to its correct value.

Parameter Value
I | Bottom diameter |1 | 30 cm
I | Top diameter 2 | 10cm
IIT | Height 3 |20cm

Options :



| w I3, 11,1012

> % I-1,II-3, III-2

3 % I-2,II-1,III-3

4 v 13,112, 1111

Question Number : 189 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

(Slump test apparatus) 1 232 GUSletl Y&, ot Aetl UG dletl AR YSL LE 1S,

Yld Y&l
| ol ud |1 |30 em
I {oluell el |2 [10em
| Qg 3|20 em
Options :
w13, 1141, 1112

> % -1, 11-3, 111-2

3 % 2, 11-1,111-3

4 v 13,112, 1111



Question Number : 190 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In the context of compression test of concrete, standard cube specimen is of the size is used in India.

Options :

1.« l3cm = 15¢cm = 15 cm

2. % 70.6cm % 70.6 cm * 70.6 cm

3. % 10cm = 10cm * 10 cm

4. % 9cm*9cm *9cm

Question Number : 190 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Sl(54tl 6164 U 81| (compression test)et! HeHH], MRAH] Hlet e ofbfel uRMIGHA 814 B,

Options:
1.« 15ecmx 15 ecm x 15 cm
2 % 0.6cmx70.6cmx70.6cm

3 % 10cm x 10 cm x 10 cm

4. % 9cmx9cmx9cm

Question Number : 191 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Arrectangular pillar have 80 cm diameter, and height is 6m, what will be the total quantity of concrete required for

casting of pillar (ignore steel bars)?

Note: For this question, discrepancy is found in
question/answer. So,this question is ignored for

all candidates.

Options :

1. 3.01 m’
2. 3.67 m’
3. 4.95 m’

4. 5.67m°

Question Number : 191 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

s Gl Yiel 80 om Ul tRIQ B, w4l GIULE 6m 8, 241 WAl 2019 M2 e 81526l 59 opeell
3ed) €ld] l6u (2 ld Ao waaglly?

Note: For this question, discrepancy is found in
question/answer. So,this question is ignored for

all candidates.

Options:



- 3.01m?

—_—

5 3.67m?

3 4.95m?

4 5.67m?3

Question Number : 192 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Match of the following items to its unit of measurement, in the context of estimation.

Item Unit
I | Earthwork 1| m?
II | Damp proof course |2 |m
III | Cornice 3 | m
Options :

1 & -1, 1I-3.1II-2

> % I-2,1I-3,III-1

3 % I3, 111, TII-2

4 % I-1,1I-2,III-3

Question Number : 192 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



uofH lofot] AeeH] Al Aef] Qrgel detl Hiusl 2154 A8 DY 53,

drd ET
|| HElsH 1| m?

I | Agcl gler =l |2
Il | slotdl (Cornice) | 3| m?

Options :
1.4 -1, 11-3, 1ll-2
2 % -2, 11-3, 1l1-1

5w 13, 1141, 1112

4% 1,122,103

Question Number : 193 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following is type of estimation in the context of building?
I. Abstract estimate
II. Cube rate estimate

III. Maintenance estimate

Options :

1 % OnlyIandII

> % Only Il and III



w Only Iand IIT

4w L1TandIII

Question Number : 193 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

AlAeA el 2] SURdeAL deeiu] vielesell UslR 87
. 244 (Abstract) vil%
1. tlel €2 (Cube rate) Bi& 1%

11, 211480l (Maintenance) w&1%

Options :

| w S5 B

R AREER

3 % S5 s

4w L TSt

Question Number : 194 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Is an accurate estimate and consists of working out the quantities of each item of works, and working the cost.

Options :

1.« Item rate estimate



2. % Plinth Area Estimate
3. % Maintenance Estimate

4. % Cube Rate Estimate

Question Number : 194 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

) W12 vl B ua ul SPMHI QURIc] €25 et oveall et (Suctell W 512 52alef] HHIG2L &Y
)

Options :

| v R el el

5w (ot &345010] el

3 % NdRlell wiel

4 w Esl(Cube) el vEl%

Question Number : 195 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following equation is correct representation of vear’s purchase, in the context of valuation? (where, 1=

rate of interest in decimal)
Options :

1.



s

Question Number : 195 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
W@ 1ol Aeeful of At mie]] 52 At 529 aNef] wlelef H1 e 53 87 (ol i = ellgMi ul €2)
Options :

1

Question Number : 196 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



In the context of method of calculating depreciation, which of the following method is assumed that the property loses

its valug by the same amount every year?
Options :

1« Straight line method

5> % Constant percentage method

3 % Sinking fund method

4 % Quantity survey method

Question Number : 196 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

WY Letef] AQUcL2] §20lef] s et HeSlH, oflAetMIell 5 Ueg[Hi A HiotaHI w1 B % [Helsd £2 4N
Al 25Hel] def yed M1 B

Options :
. lHluL (Straight line) Ugg(d
> x dd 2slalRl (Constant percentage ) U.it,[r?t

o s [=51L 65 (Sinking fund) Usg(d

4 % osee]] ¥d (Quantity survey) U.it,[r?t

Question Number : 197 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0

If the materials are to be cartied from distant place, more than , then cost of transport is also added.
Options:

1. % 10km

2 % 12km

3 « 8km

4. % 6km

Question Number : 197 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

%) il ${H Yl 52l ag ¢2411 @A qlad] usd] 814, dl uRdsst W yal GRaam] w(d 8
Options:

1 % 10km

5> % 12 km

3. & 8 km

4. % 6 km

Question Number : 198 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0



Waste water treatment can be classified into, which of the following?
I. Preliminary treatment
IL. Primary treatment

ITI. Biological treatment
Options :

1 % OnlyIandII

> % Only Il and III

3 % OnlyIand III

4 v LIland III

Question Number : 198 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

w{U(91¥ %01 HI9%cl (Waste water treatment)el «12s1 (18]l s31HT ao[sd 52| 21514 87
. WR(MS (Preliminary) 2lei=2
I W& (Primary) 2|22

II. %4 (Biological) ¢leRe2
Options :
| w S5 B

R AREER

3 % S5 B I



4w LT

Question Number : 199 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following is non-biodegradable solid waste?
Options:

1. % Leaves

2 % Wood

3.« Plastic

4. % Fruits

Question Number : 199 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Al w0 o] s20) ((ed-ga(deealals e $UT] 87
Options:

1 = Ulesl

CTER

5 v WiRels



4% 89

Question Number : 200 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

is process by which, we can categorize waste products and garbage, on the basis of what we can reduce, reuse

and recycle.
Options :

1 « Waste segregation and management

2 % Water treatment

3 % Wwater management

4 % Blodegradable destruction

Question Number : 200 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

L YA Dl g1 S 51 Gete) el s21e] @529 53] 2151l 691, et 1R U
219, Yet:GualoL 2 R1usd 3] 218l .

Options :

| o U A5egRl el ARG (Waste and segregation management)

2 % WU HI9%d (Water treatment)

5 % YL UG (Water management)



4 » Baldele=llcs <112l (Biodegradable destruction)

Question Number : 201 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following statement is correct regarding E-waste?
I. E-waste can be defined as electronic and electrical equipment waste

II. E waste is generated by TVs and display devices
Options:

1 = Onlyl
> % OnlyIl
3 « BothIandII

4. % Neither I nor I

Question Number : 201 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

E- waste (8852)e{l5 5u31) Aoit] A1 wQauiel] 53 ([Aulet AR 82
. E- wastesl 6§a521+{l5 2a 585215 Gusllol $321 dils ul cuylsld 53l 251y 8

I. E- waste TV e} S| GUSWI| 4121 %32 21y B

Options :

1 = o5l



5w S5

3w 1 Wl

4 % odllelll

Question Number : 202 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following is a type of industrial solid waste?
I. Hazardous solid wastes

II. Biomedical waste

Options:

1« OnlylI

> % OnlyII

3. % BothIandII

4. % Neither I nor II

Question Number : 202 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

A1 w10 el s W[OS det sUAL USIR B2
. oflwH] €l $U2) (Hazardous solid wastes)

1. Bd-doiloi] s3] (Biomedical waste)



Options :

v $5
5w S5
3 % | Wal || tde
4 % odllell

Question Number : 203 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following process is included in Preliminary treatment of waste water?
Options :

1 & Screening

> w Activated sludge process

3 % Chlorination

4. % Anaerobic lagoons process

Question Number : 203 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
W (91¥ 000 YIR(6S M (Waste water Preliminary treatment) eflAetMIe]l 56 W(slef] 112l & 87

Options :



|« YHd&slL (Screening)

> % %l@’—l{sd W US UsH (activated sludge process)

5 = SAlR-{l$231 (chlorination)

4 s Hdldld WRIAAAR UlsAUL (Anaerobic lagoons process)

Question Number : 204 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following is domestic solid waste?
I. Garbage
IT. Rubbish

III. Ashes
Options :

1 % OnlyIandII
5 % Only IIand III
3 % Only Iand III

4 LIland III

Question Number : 204 Is Question Mandatory : No Calculator : None Response Time : N.A



Think Time : N.A Minimum Instruction Time : 0

of [ A=A (Hie]] 5] €39 €t SUR B?
. ¥1641S (Garbage)
1. s34 dd (Rubbish)

1. 21U (Ashes)

Options :

| w S5 A

5 % S5l ]

3 % S5 1 ¥

4w LT

Question Number : 205 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In the context of AutoCAD, which of the following command is used to edit an existing text through a dialog box?
Options :

1.+ DDEDIT Command

2 % PEDIT Command

3. % Hatch Command

4. % Arc Command



Question Number : 205 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

AutoCAD=H Ae0H1, o[ Asi1miel] 2] 5M15 SILL 615 g1 Aot A1l AullEd 521 HI2 R 87
Options :

1 « DDEDIT $Hls5

5 % PEDIT SHleS

5 % Hatch SIS

4 % Arc 5HI=5

Question Number : 206 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following command is used to draw chamfering arcs connecting two lines of specified radivs in
AutoCAD?

Options :
1. # Revolve Command
2« Fillet Command

3. ® Move Command

4. % Chamfer Command



Question Number : 206 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

of et Miel] 52| 5H1e5 AutoCADM] [ £ [oled] & Jutrila oflell wiuaiol] sulet (chamfering arcs) 6124l
4le quaLy B2

Options :

. » 2dled (Revolve) SHL-S

, » Sl82 (Fillet )SHleS
5 = 44 (Move )SHI<S

4 U (Chamfer) SHIsS

Question Number : 207 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

In AutoCAD 3D, is used to add the thickness to the region and also taper angle.

Options :

1.+ Extrude Command

5> % Cylinder Command

3. % Cone Command

4. % Union Command



Question Number : 207 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

AutoCAD 3D I, 3 (a2 (region) o 16 GARall v 5191 HisS| 52alA (taper angle L2 TR
8,

Options :

| VS2YS (Extrude) SHIsS

, w Ri€l=S2 (Cylinder) M-S
5 % 5lel (Cone) SHLS

4 % 4ledet (Union) SHI-S

Question Number : 208 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

is one of the largest reservoirs of Gujarat, which was constructed during 1093-1143 AD.
Options :
1« Sahasralinga Talav

> % Champaner

3 % Pavagadh

4. % Rani-ki-Vav



Question Number : 208 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
) p21cdetl Alel] 2t il ws B, Bef (A1 (81 1093-1143 AD €2(Halet S2aH] W1 e

Options :
1 v dsuldd duua

5> % UMUleR

3 % Uldl2

4 % Usdlsl alg

Question Number : 209 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

was a famous Hindu fortress under the Solanki kings of Gujarat followed by Khichi Chauhans.

Options :

1 % Champaner

5> « Pavagadh hill

3. % Lothal

4. % Jhulta minaras



Question Number : 209 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
W 221 cletl H1G5] 20091l el W] L1801t 2ll4et S601] Yutldt (¢, (5ed] edl.

Options :

1 % dMlAR
5>« Uldle 252l
3. % dlad

4 % 2l HARL

Question Number : 210 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Which of the following statement is correct regarding Rani-ki-Vav Gujarat?

I. Rani-ki-Vav is located at banks of the Sarawasti River in Gujarat

II. Rani-ki-vav was initially built as a memorial in 14th century A.D
Options :

1. Only I

> % OnlyIl

3. % BothIandII

4. % Neither I nor I



Question Number : 210 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

el l-sl-d1a os21d bl Al Aet el 524 [quled 1R 8?2
. 2AeAl-51-a1q J22UdHl Ul Agldl (o113 w11dd]

11 UeAl-sl-ald 2reu1dul 144] AEIUT RS dil wledlad i w1d] edl
Options :

| o 55
5w S5

3 % | Wa || Gl
4 % odllell

Question Number : 211 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time: 0

Which of the following statement is correct regarding Sidi Saiyyed mosque?
L It is famous for it exquisite latticed windows or jalis

II. It was built in the same period when Mughals took over Ahmedabad from the sultans
Options:
1 = Onlyl

> % OnlylIl

3 « BothIandII



4. % Neither I nor I

Question Number : 211 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

dle] Q] vt wi ol A iiel] 9 (Al H13 7
| Ges 2netlalel] wizlull Hiz yuald 9

1. d % o HHAOH] GofladH] w1 oq R Hedla Yedlefletl Slemiel] wMeldle 50 5,

Options:

% B5dl

5 % S5

3 v |3l ] o
4 % odllell

Question Number : 212 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

The statue of unity is an iconic tall tribute to one of India’s foremost statement and leaders-Sardar Vallabhbhal
Patel.

Options :

1.« 182 metre

2. % 190 metre



3. % 150 metre

4. % 140 metre

Question Number : 212 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

1032} w1 421 3 @cetl Al sl el Actudliet] s - 6 dcqmg uedd Gl Aegle(d
8.

Options:
1 v 182122
5 = 190 Hl2?

5 = 150 Hl2?

4 % 140 Hl2



